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ψ(r1, r2, · · · rZ) = φ1(r1)φ2(r2) · · ·φZ(rZ). 637
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S l = 0 2
P l = 1 6
D l = 2 10
F l = 3 14
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Δl = ±1, ΔS = 0, ΔJ = ±1, 0 (No 0 −→ 0 Transition). 6157
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L = 0 S
L = 1 P
L = 2 D
L = 3 F
L = 4 H
L = 5 I
L = 6 K
L = 7 L

2: ����!($�� �� ����+ ����� ���( �$��� �!F A����

������� �	
 ���

5��; �
 *��( �H��� �( d!� �; �O!F A���� 5*�� ���� $�!S( �9�$�!
 �������� $�����

H = 1s 2S 1
2
. 6167

���
� �	
 ���

5��� ���� n	�
 #$� .�� 1�F $� �$ 8�!�
 ��� �O!F � �������� $�����

He = (1s)2 1S0 . 6177

������ �	
 ���

A���� ��3�� ���( 5��!H �
 $��M 2S ��%$� �>�^� ������� 5�!�$ �
 Li �34� �!�!� ��� �( ��� .�� �( ������� /� A��d>� �(
8�!�
 ��� ���Q *��' ���( �
� �
 ���� �� �!3� �
 *M� 8�!�
 �$��� �!F A���� �( �!3� ��!Q �$ �!�!� ��� �$��� �!F

)+� ��� ,$�0B (J, L, S) �
������ ���B�

(J, L, S) = (0, 0, 0). 6187

1/2 �( �(��( J �; �[!��$� �� ��( �
��� 0 �( �(��( L � 1/2�( �(��( S �� *�� 8��4
 2S ��%$� ������� /� A��d>� �( 1�'
*"�� �!
��� �!�!� ���( .���(�3( 5�" �
���

(J, L, S) = (
1
2
, 0,

1
2
). 6197

r

www.Endbook.net



*"�� �!
��� �!�!� ���( �[!��$� �

Li = (1s)2(2s) 2S 1
2
. 6207

���
��� �	
 ���

�!�!� ��� �( 2S ��% $� ���� ������� /� ���d>� �( A��$; .�� 5*�� ������� $�I� ��$�� �� ��+���Q �
 8�!���( ��� �( 1�'
��"�Q ��% ��� 5�3� $�!��� �$ 1 �� 0 $�� 
 �� ����� �
 8�!���( .!U�� 1

2 �( ��( �(��( �!�!� .!U�� �� �[�;+� 5��; �
 *��(
S = 0 �( �$� �
 ��Q *��' /� $� �3!U�� �?� +� *S��( �
 �>�^� ������� �� .���(�3( *�� J
�� ���$�� �$� � ��$�� (1s)2

�� ��" �
 �$� �
 ��Q :& 
�� X�
 Y(�� /� �( �[3
 �"�( �$� �
 �I�; �3!U�� X�
 Y(�� ��3�� �34� ���� ���
� ���+ ���!�( $��M
��$�� 8�!���( ��� ���( .���(�3( 65�3�S
 2S *��' $� ������� ���
 �� �!3� *M�7 5*���O- �( �(��( @�� *��' .��$�

(J, L, S) = (0, 0, 0) −→ Be = (1s)2(2s)2 1S0. 6217

��� �	
 ���

8�!���( ��� �( 2P ��% $� ���� ������� /� ���d>� �( A��$; .�� 5*�� ������� s3Q ��$�� �� ��+���Q �
 $�( ��� �( 1�'
$�� 
 � *�� 2P ��% $� �>�^� ������� ��� 5 12 �( *�� �(��( $�( .!U�� 0 �( ��( �(��( 8�!���( .!U�� �� �[�;+� 5��; �
 *��(

��$�� $�( ���( .���(�3( 51 �( ��( �
��� �(��( $�( ���( L $�� 
 N�O- �( ��( �(��( 8�!���( ���( L

S =
1
2
, L = 1, −→ J =

3
2
,

1
2
. 6227

�� ��" �
 kB�( J(J + 1) − L(L+ 1) − S(S + 1) �( *�� ]��3�
 *02
 ]��^ /� �( �� $��
 .!U�� A3� �
�( �
�
)�(��( �
����(��( $�( ��� �������� A��$; .���(�3( 5�"�( J = 1

2 ��$�� ���Q *��'

B = (1s)2(2s)22P, 2P 1
2
. 6237

���� �	
 ���

�( *�� �(��( ��������$�����

C = (1s)2(2s)2(2p)2. 6247
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.���(�3( 50, 1, 2 �( *���(��( L .��
 ���� 
 �3�S
 P 1��!($�� $� ������� ���
 ��� 51 � 0 +� �3�$�0B S .��
 ���� 

��$�� .(�� ��� ���(

S = 1, L = 0, 1, 2, −→ J = 0, 1, 2. 6257

�>�^� *�� J
�� ���� �$� � ��$�� �� (2S)2 �34� �Q ��% /� �( P ��% ������� �� �� �!"�( ��"�� �F�	( ���( �>�F+�
)��" ��$�;�( ��+ _�" *S��( �
 �"�( �$� �
 ��Q J� X�
 Y(�� ���; ���( .���(�3( 5��� ��"

S = 0(singlet = antisymmetric) −→ L = even = 0, 2

S = 1(triplet = symmetric) −→ L = 1. 6267

#$� $� 5*�� Triplet �� ���H �� *��' /� �( _�(�
 /� .!U�� � Singlet �� ��O3
 *��' /� �( _�(�
 �O- .!U��
���H �� *��' �9��� 6�"�( ��"�� ��C� ���
� �$� �
��Q X�
 Y(�� �� ��M�7 ��	!����( ��
 *��'$� �� ����� 8�!�
 �( _�(�

�
 ���Z> X�
 Y(�� ���H �� *��' $� �� ��( .�� d!� �; ���d!> J!�� 5*������ Singlet �� ��O3
 *��' �9��� +� Triplet ��
�� �I�; .!( ������ �9��� .���(�3( � ���!�($��M �
 +� �� $�� �
 ������� �� �" �
 kB�( �
� .�� 5�"�( �$� �
 ��Q *S��(
Hund ���
 1�� ��B�M �( � �3� �
 b�- d!� �
 ��� ���� �$�
$� �� *�� ��� ��B�M /� ��B�M .�� 5�"�(���� *�� *02


5*��$�I�


������ ��	
� ����� �
��� ����� �� ��� ���� ����� ����� ����  �!	��!� ���"� #
� $�%�� &��!� '�� $�"�(
*"�� �!
��� .(�� ��� ���( .���(�3(

S = 1, L = 1 −→ J = 2, 1, 0. 6277

�
�( �c� $� �
 *��' �9��� *>��" �4��W
 �( 1��� .�� u��Q 5*��$� � ���Q *��'$� J $�� 
 �� *�� .�� 1��� 1�'
)��" �
 �-:� ���
 8�� ��B�M $� �4��W
 .�� �[!�� 5��" �
 ���� $��
 .!U�� A3�

�; J� �� ����+ ����� �� ����' ,$�- .��$� N�"�( �Q �; +� ���� ��� ��% /� ��
 *��' +� ��!� ��H�
 &��!� )�� $�"�(
�"�( J = L+ S �( �(��( �; J� �� ����+ ����� �� ����' ,$�- .�� �!K$� 5�$�� �$ �9��� .����� N*�� J = |L− S| �( �(��(

5*"�� �
��� �$ �9��� .�����
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� ��( �
��� J = 0 ��$�� ���Q *��' *�� ��"�Q 2P ��% *��' r +� *��' e �I3� �� �[�;+� .(�� ��� ���( .���(�3 (
)��( �
�����+ J�" �( .(�� ��� ��������$�����

C = (1s)2(2s)2(2p)2 3P0. 6287

������� �	
 ���

�( *�� �(��( ��������$�����

C = (1s)2(2s)2(2p)3. 6297

L +�[
 ��
$�� 
 5�$�� ����� �9��� ��%�( .!U�� �( *��' ���
 1�� ��B�M�(�3( 53/2 � 1/2 +� �3�$�0B S .��
 ���� 

�$� �
 ��Q :& 
�� *S��( �
 ����!($�� �� ����+ ����� *��' N*�� �$� �
 :& 
�� S = 3/2 *��' ��� 50, 1, 2, 3 �( *�� �(��(
����+ ����� ��$�� �� �$T �� +� �$� �
 ��Q :& 
�� *��' /� �!
��� �
 5�!3� ��$�( *M� �( �$ E�^�
 .�� �� *����I( 5�"�(
����� ���	
 ��
 m �( |1,m〉 ��
 *��' +� *S��( �
 *��' .�� �� �
� �
 ���� J
�� ��� 5��+�S( �3�S
 l = 1 ��

)+� *�� ,$�0B *��' .�� ��� J�" .���(�3( 5��� �$� �
 ��Q :& 
�� �$ �; ���� ��� ���H� �"�( ��"

|χ〉 = a|1, 1〉|1, 0〉|1,−1〉+ b|1, 1〉|1,−1〉|1, 0〉
+ c|1, 0〉|1, 1〉|1,−1〉+ d|1, 0〉|1,−1〉|1, 1〉
+ e|1,−1〉|1, 0〉|1, 1〉+ f |1,−1〉|1, 1〉|1, 0〉 6307

�
 %�( *��' �� �
� �
 �[!�� �$T .!
�� � .!
�� ���[(�C .!3� �
 � �$T .!
�� � .!��� ���[(�C �( *0S� �$� � ��Q
)�"�(��+ J�" �( *S��(

|χ〉 = |1, 1〉|1, 0〉|1,−1〉 − |1, 1〉|1,−1〉|1, 0〉
− |1, 0〉|1, 1〉|1,−1〉+ |1, 0〉|1,−1〉|1, 1〉
+ |1,−1〉|1, 0〉|1, 1〉 − |1,−1〉|1, 1〉|1, 0〉 6317

�$ L+ ����B �� �� *S
 d!� L2 $���( �\�� ��; �!3!0( ���; ���( 5*�� M = 0 �\�� $�� 
 �( Lz $o���( �\�� /� ����' .!3�
�� �
� �
 ���� ���� �0��=
 /� 5�!
� �
 �c� �; ��$

L+|χ〉 = 0. 6327
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:& 
�� *��' �� �!�>�� .���(�3( 5*���O- $�� 
 �( L2 $���( �\�� �[!��$� � *�� A���� /� $���( .���%�( N *��' .�� .���(�3(
5L = 0 �( *�� ����' �$� �
 ��Q

)+� *�� ,$�0B �9���!� �������� $����� �[!��$� � ��( �
��� J = 3/2 N*�� L = 0 � S = 3/2 �� �[�;+�

N = (1s)2(2s)2(2p)3 4S 3
2
. 6337

5�!3� �4��W
 �$ ��x� ��� *S	� �\!S�� ��� �( .�����Q ��[( �� *����I( ��'�
 .��$�

���� �	
 	��

�( *�� �(��( ��x� ��� ��������$�����

C = (1s)2(2s)2(2p)6, 6347

����� .���(�3( � �$�� ���� J
�� �$� � �Q ��% /� �!��� �
 ����3� 5*�� ��"�Q :& 
�� 2p ��% �� *�� �; ��3
� ���� ��
)�( *���(��( � *�� ���� $�!S( ��x� �O!F $����� .���(�3( 5*���O-�( �(��( �; �� ����+

Ne =1 S0.

5�$�; *��( �H��� �( �$ �\!S�� � $��> ��
 ��� �O!F A���� ���� �
 1�'

��
� �	
 
��

*�� ������� J2
 �&3!B �� �+�[
 �$T /� 7 ��O' /� ���d>� �( ��� .�� �� ��� $�q� ���� �
 5w �( *���(��( $��> ���� ��B
)�( *���(��( �; �������� $����� 5��; �
 *��( ��x� ��� �( 6*�� *02
 �;$�( �� ,��O� .�� �(

F = (1s)2(2s)2(2p)5 6357

���( ��" �
 �>�^� p ��% �( ��O' .�� � *�� ������� J2
 *�$� .!U�� � �� ����+ ����� �?� +� ��O' ,�q	�
 ���
*"�� �!
��� ��� .��

L = 1, S =
1
2
, J ∈ {3

2
,
1
2
}. 6367
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J = L + S �� *�� ����' ���Q *��' N*�� ��"�Q ���!( ��!� +� p ��% ��� 5�!3� �
 ���O��� ���
 8�� ��B�M +� 1�'
�( *���(��( $��> �O!F A���� �[!��$� 5J = 3

2 .���(�3( 5�"�(

F =2 P 3
2

�����
 �	
 ����

)�( *���(��( �; �������� $����� 5��" �
 ����� ��x� ���$� p ��% �( ��O'�� ���d>� �( �\!S�� ���

O = (1s)2(2s)2(2p)4. 6377

��$�� �����" �>�^� P ��% �( ��O' �� �� �[�;+�

L ∈ {0, 1, 2}, S ∈ {0, 1}. 6387

5�"�( �$� �
 ��Q *S��( �
 ����!($�� *��' *�� �$� �
 �3!U�� *��' �� �[�;+� 5S = 1 ��$�� ���
 1�� ��B�M �( L(�W

�
 �[!�� ���
 8�� ��B�M +� 5J ∈ {0, 1, 2} .���(�3( 5*�� L = 1 ��$�� �$� �
 ��Q *��' �� �
� �
 ���� �0��=
 ���

.���(�3( 5J = 2 �� ���!H

O =3 P2. 6397


� ��� ���� �

� �������� $����� ��$�; *��( $� ����� ���� �3� +� 5��� ���� �4��W
 �$ �(��3� 1��C 8�� � 1�� ��
 ���$ ��3� ��
5��� ���� ���O��� �O!F A����

5�"�( �$� �
 ��Q :& 
�� *S��( �
 *�� ����!($�� �� ����+ ����� � .!U�� +� �"�� �� J� *��' f R

�� �� �33� �
 ��!( $��
 f .!U�� �H�!�OC �( _�(�
 ,�?':
 +� �3�S
 ���-:� �� ���
 8�� � 1�� �B��M f e
5�3�S
 +�[
 J � S +� ����� 
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�( ����' �(�2
 �( �$ �; ���� �
 � �$�� ���$�� J
�� �$� � �Q :& 
�� ��% /� �� *�� �; ���� .��� �I
 ���%�( � f g
5*>�H �?�$� �O- �� ����+ �����

��� ��0� ��
 ��� �( ��3�� J2
 *�$� *>�H �� +� �$�( �� �$ �O!F A���� �0��=
 $�� ���� �
 ��%�
 ��"�Q �( �[!��$�
$� �(��3� $����� /� A���!Q kB�( $�� .�� 5��� ��OH .	� �I�; �O!F ������� �$�($� J!qO� �( #$� .�� $� �� ��$�� $��

5��" �
 ���!�!" �-�3B 1��C
��3�� �; � �!3� �$�"� ���� ����� ���� /� �( *S��( �
 �C .��$�

,�$T ���4� +� J �S
 � *(�c �!F /� N��; �
 *��( ���$�
 V�$ +� �� �� �$T /� ��
 *��' �9��� �!F f j
�I�;$� ,�$T ���4� �� ��; �
 *��( ��%��4
 $�H+�� ��� J' �( ,�$T /� �9��� �!F ���$�
 V�$ $� �� ��� N*S!�
�
 ������� ���4� �( ��S( �� ��" �
 kB�( ����Q .�� 5�3� �
 �!!a� �
 ��% �9��� ,�$T ���4� A��d>��( .���(�3( 5*�� J!��
1�� ���$ �3� �O!F A���� � �������� $����� g 1��C 5��!�($��M 3d ��
 *��' +� ��%�( �� � �� .!��Q 4s ��
 *��' �9���

5�
� �
 ���� ��� ��
; *��( ���F .�� �( �� �$ �(��3� 1��C
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Atomic Number Atom Electronic Structure Spectral representation
1 H (1s)1 1S 1

2

2 He (1s)2 1S0

3 Li (He)(2s)1 2S 1
2

4 Be (He)(2s)2 2S0

5 B (He)(2s)2(2p)1 2P 1
2

6 C (He)(2s)2(2p)2 3P0

7 Ni (He)(2s)2(2p)3 4S 3
2

8 O (He)(2s)2(2p)4 3P2

9 F (He)(2s)2(2p)5 2P 3
2

10 Ne (He)(2s)2(2p)6 1S0

11 Na (Ne)(3s) 2S 1
2

12 Mg (Ne)(3s)2 1S0

13 Al (Ne)(3s)2(3p) 2P 1
2

14 Si (Ne)(3s)2(3p)2 3P0

15 P (Ne)(3s)2(3p)3 4S 3
2

16 S (Ne)(3s)2(3p)4 3P2

17 Cl (Ne)(3s)2(3p)5 2P 3
2

18 Ar (Ne)(3s)2(3p)6 1S0

19 K (Ar)(4s) 2S 1
2

20 Ca (Ar)(4s)2 1S0

21 Sc (Ar)(4s)2(3d) 2D 3
2

22 Ti (Ar)(4s)2(3d)2 3F2

23 V (Ar)(4s)2(3d)3 4F 3
2

24 Cr (Ar)(4s)2(3d)4 7S3

25 Mn (Ar)(4s)2(3d)5 6S 3
2

26 Fe (Ar)(4s)2(3d)6 5D4

27 Co (Ar)(4s)2(3d)7 4F 9
2

28 Ni (Ar)(4s)2(3d)8 3F4

29 Cu (Ar)(4s)2(3d)9 2S 1
2

30 Zn (Ar)(4s)2(3d)10 1S0

31 Ga (Ar)(4s)2(3d)10(4p)1 2P 1
2

32 Ge (Ar)(4s)2(3d)10(4p)2 3P0

33 As (Ar)(4s)2(3d)10(4p)3 4S 3
2

34 Se (Ar)(4s)2(3d)10(4p)4 3P2

35 Br (Ar)(4s)2(3d)10(4p)5 2P 3
2

36 Kr (Ar)(4s)2(3d)10(4p)6 1S0

3: �(��3� 1��C $� /0� ��
 ��� �O!F A���� � �������� $�����
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∑
α,i

Zαe
2

|Rα − ri| , K1L

;�+
0� 
1�= ��
�/ 8�+�� �
G� 
� Pα � 
� Pi � 
� �
0� � 
� ���
��� �
�� 8�+�� �
G� 
� Rα � 
� ri �=$� ��
I-��� ��9 8��G� 3�� �	 �$ ���
?��
� )��

H = TR + Tr + V (R, r), K2L

�E��� 8�+�� �
G� V (R, r) � 
� ���
��� �GJ+6 �E��� 8�+�� �
G� Tr M
� �
0� �GJ+6 �E��� 8�+�� �
G� TR �=$� ��
;�+
0� 
� �
0� ��?� � 
� ���
��� ��?� �
�� 8�+�� �
G� R � r ���
�� )��$� ;-#� 3�0�

%

N

www.Endbook.net



)�!���O �$
� ������  � ���	 ��+����� ���
�� P�>� 3( �� -#� QR���% .���
"��= ��+� 
/ �� �S�= �	 �6�/
	
$�T�
!� ��6� )��
	 ;��� C
D�� ���/ �!� �� �?�?U/$
� V�� ���
?��
� )�� 8$
	$� �� �#$ �� �H� �	 �
( ��� 8
��$� ;-#�

1�=  !� �	 �� ��� 7��	� �� �J��F/ �
� W�$ ���/ �� 8$��!� -#� X�
@ ���  ���� 8��S�% �
� .
0�# ���� ���	 ��
������ A
�,Y� ���/ �� �J��F/ �
� 8�$ )�� ���� �
J�� 
	 A
>�� 2�
O� ��� 8�
# �� �H(,� 3	
> $��F� �	 �$ 3Z
0� )��
;-#� .1� 89���� �	 ������ ��1�  � 9� 8�
[
#� �J��F/ �
� W�$ )�� 7��	�$� ;�$�= -#�	 
� .
0�# )�� 8$
	$� �!1�
�� 
� �R
( �?\0�$� �
4� ���+� �	 ;.�+� ���% �?\0� ���� 8�
# ���	 �$ 2#
+� �J��F/ 8�$ �� �+� ��  !� 
� �	 ��1� )��
� �++� �� -��( �
0�=$
�0	 
� ���
��� 
	 B
�>$� �
� �+��+# 3���	 
� �
0� �� .�+� ���  �#,� ���� 9� C
1��
	 .����/

I-#� )�+� ������  � ���	 ��+����� ���
�� ;.�+� 8�
[
#� ��+����� ���
�� �J��F/ 3( $� �?\0� )��9�

[TR + Tr + V (R, r)]Ψq(r,R) = EqΨ(r,R). K3L

�
� -�
( 8]�� Ψq(r,R) � ��� $ ��$
�	 ������ �
� -�
( 8]�� )���/ ���	 �� -#� ���
���� ����� ���!D� q �T	�$ )��$�

1+/ � -0�� ����
+�� ��^
�  � R �=$� �� .�+� �� 3( �$ ��9 ��+����� ���
�� -0_� ���
�� )�� 3( ���	 ;-#� ������

I-#� 8�� �$�� �
��$
% ���+� �	

[Tr + V (r,R)]un(r,R) = εn(R)un(r,R). K4L

��
%  � un(r,R) 8]�� `	��/ ;��$�� ��
0	 R �
��$
% �	 ��+����� ���
�� )��$� �E��� `	��/ 8]�� � 
� �E��� �� -#� ���JY
I�+�� M�+�� �� 3��G/ ����
��� a�� `	��/ ���	 ��
�
� � 3�
�

∫ ∏
i

d3riu
∗
n(r,R)um(r,R) = δm,n. K5L

I-��� ���/ �� �D�
�$� � ��� b0	 
� un(r,R)20(�	 ���/ �� �$ 8��_�� a�� `	
/  � �
(

Ψq(r,R) =
∑
m

φq
m(R)um(r,R) K6L

;.�$�= �� -#�	 3�
� ��+����� ���
�� $� a�� `	
/ )�� �$�c��
6 
	

TR

∑
m

φq
m(R)um(r,R) +

∑
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ERot

Eelectron
∼ 10−4, K21L
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λRot ∼ 104λelectron ∼ 104 × 3500 Angstrom ∼ 0.35 cm. K22L
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ψ(r) = αψ1(r,R) + βψ2(r,R). K27L
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R
(1 − (1 +

R

a0
)e−

2R
a0 ). K35L

)�+� .�

〈ψ1|e
2

r2
|ψ2〉 =

1
πa3

0

∫
d3re−r1/a0

e2

r2
e−r2/a0

=
1
πa3

0

∫
R3

8
(u2 − v2)dudvdφe−

R
a0

u e2

R
2 (u − v)

=
e2R2

2a3
0

∫ ∞

1

du

∫ 1

−1

dv(u + v)e−
R
a0

u

=
e2

a0
(1 +

R

a0
)e−

R
a0 . K36L

I.�$�= �� -#�	 ρ := R
a0 il���/ � �Y�	�� �
� A$
J� $� �$�c��
6
	

〈ψ1|H0|ψ1〉 = − e2

2a0
+
e2

R
− e2

R

(
1 − (1 +

R

a0
)e−

2R
a0

)

= − e2

2a0
+
e2

R
(1 +

R

a0
)e−

2R
a0

=
e2

a0

[
−1

2
+

1
ρ
(1 + ρ)e−2ρ

]
. K37L
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〈ψ1|H0|ψ2〉 = (− e2

2a0
+
e2

R
)S − e2

a0
(1 +

R

a0
)e−

R
a0

=
e2

a0

[
−1

6
ρ2 − 7

6
ρ− 1

2
+

1
ρ

]
e−ρ. K38L

ρ = R
a0 i���0�
!�� ���	 �
��$
% l���/ 
	 ;.��J	 $
�	 29-#�$ g�Y )���/ ���	 �$ A
J#
U� )�� z�

� -0�
	 �� �
(

I��= ��$� ��9 3�� �	 29-i #�$ g�Y

E±(R) =
〈ψ1|H0|ψ1〉 ± 〈ψ1|H0|ψ2〉

1 ± S

=
e2

a0

[− 1
2 + 1

ρ(1 + ρ)e−2ρ] ± [− 1
6ρ

2 − 7
6ρ− 1

2 + 1
ρ ]e−ρ

1 ± e−ρ(1 + ρ+ 1
3ρ

2)
K39L

�� �
G� E−(R) 
	 ψ− `	
/ ���	 � E+(R) 
	 ψ+i`	
/ ���	 M-#� ���0�
!�� ���	 -�!�  � �� e2

a0
�	 �$ E(R)-J0�

;.�+� .#$ ρ20(�	 �$ `	
/ �� )�� .����/ �� ;.���
R 9� �$��F� V�� ��9� �	 ε−(R) `	
/ �� .��� �� �6�
� K N 3�� L .�+� �� .#$ ρ20(�	 �$ `	
/ �� )�� �� �
>�
-#� �� �?@
� �E�$��� �
0� �� ��
�/ �?@
� ;-#� �+�!� $��F�  � ��$�� ε+(R) `	
/ ��� -0�� �+�!� �TF�  � ��$��
�+U+� �� � -0�� �� �+�!� �TF� V�� ��$�� E−(R) �+U+� �� .�+�	 �� 3�� ��$ 9� ;��� �� �+�!� E(R) �=$� ��
 � ����
��� a�� `	
/ ��
% -�
($� �� -#
+�� )�� �	 �D�
� )�� ; -#� R

a0
≈ 2.4 �TF� $� �+�!� �TF�  � ��$�� E+(R)

���
��� $�o( �
!
(� �$
F
� �
% a�� `	
/  � $� �� -#� )�� ��� ��� )�� ������ 3��� ; -0�� ψ− 34� �$
F
� �
% `	
/
�
0����� ���	 �� �� �	5
6 ����� � W� �[+�$
	 
	 ����
� ���
��� �� ��� �� ��
	 )�� � -#� .� $
�0	 �
0� �� )�	$�
����
��� �	� ψ+ 34� �$
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;E−(R)− � E(R)+ �
� �+U+� IN 3��

����� ���	
� ���

�/
k
_� 
	 .�+�m_G� (x, y, z) �+�� �= �/$
�� A
k
_� 
	 ���= �
D	 �$ �TF� �� ���/ �� ���	 �# �
o� ���	
�� ��+�e�� ;.�+� �� 3!� ��9 2�/�/ �	 A
k
_� )�� l�@�/ ���	 ;.�+�m_G� (u, v, φ) �i �o�	 A
k
_� �	 C�#��
�?@
� � r1 
	 �$ p1 9� 8��_�� �TF�  � �?@
� ;�+�
	 p2 := (0, 0, a) � p1 := (0, 0, a) A
k
_� ��$�� �U	 �$�� ���� ��

.(hL 3�� M.��� �� �
G� r2 
	 �$ p2 
/ �TF� �
!�
I.�+� �� l���/��9 3�� �	 �$ 8��_�� �TF� ���	 ��o�	 A
k
_� �
(

u :=
r1 + r2

2a
, v :=

r1 − r2
2a

, φ = φ. K40L

-	
f v �
� �+U+� � p2 � p1 �
� ���
� 
	 ��
� �o�	 M-	
f d u �
� �+U+� �� ��� �� C�?�� &
	 b	�� $ �	 �6�/ 
	
I9� -#� A$
J� φ � v Mu �
��
��$
% 8���U� ;�+
0� ��$
% �� �
� ����c� ���

u ∈ (1, ∞), v ∈ (−1, 1), φ ∈ (0, 2π). K41L

I9� -#� A$
J� .��> A
k
_� 
	 A
k
_� )�� �T	�$

u =
1
2a

(r1 + r2),

v =
1
2a

(r1 − r2),

φ = tan−1 y

x
. K42L
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1

2

r

r

x

y

z

a

-a

��o�	 A
k
_� Ih 3��

�=$� ��

r1 =
√

(z − a)2 + x2 + y2, r2 =
√

(z + a)2 + x2 + y2. K43L

.�0��� �� � .�+� �� 8�
[
#� 42 �T	�$ 9� $
� )�� ���	 ;�$�= -#�	 ��� �$ A,��J/ )�� B���� ���/ �� )�+� .�

r1 = a(u+ v), r2 = a(u− v), K44L

M43 9� 8�
[
#�� )���Y ���� `	�� 
	
��

(z − a)2 + x2 + y2 = a2(u+ v)2,

(z + a)2 + x2 + y2 = a2(u− v)2. K45L

I.�$�= �� -#�	 .� 9� �T	�$�� )�� ���� .�
	

z = −auv, K46L

I-��� .����" �?J> b	�� $ 9� ��� $� �= �$�c��
6 
	 ��

a2(1 + uv)2 + x2 + y2 = a2(u+ v)2, K47L
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���� 8�
# 9� n% �

x2 + y2 = a2(u2 − 1)(1 − v2). K48L

I�+�= ��$���9 3�� �	 B���� b	�� $ 
'
�
1�

x = a
√

(u2 − 1)(1 − v2) cosφ

y =
√

(u2 − 1)(1 − v2) sinφ

z = −auv. K49L

)�� ;.�+� t
0( �$
1�= �?"�� t�R � .��� 3��G/ �$ -	
f φ � -	
f v M-	
f u �
� �+U+� �	 B
!� �
�$���	 .����/ ��
I���� �� l���/��9 3�� �	 ��� B
!� �
�$���	

eu :=
∂r
∂u

:= (
∂x

∂u
,
∂y

∂u
,
∂z

∂u
)

ev :=
∂r
∂v

:= (
∂x

∂v
,
∂y

∂v
,
∂z

∂v
)

eφ :=
∂r
∂φ

:= (
∂x

∂φ
,
∂y

∂φ
,
∂z

∂φ
). K50L

I�� ��� �� �
G� -#�$�# � 8�
# �J#
U�

eu = (
au(1 − v2) cosφ

ξ
,
au(1 − v2) sinφ

ξ
,−av)

ev = (
av(1 − u2) cosφ

ξ
,
av(1 − u2) sinφ

ξ
,−au)

eφ = (−aξ sinφ, aξ cosφ, 0), K51L

;ξ :=
√

(u2 − 1)(1 − v2) �=$� ��

A
k
_� 8
�
#� ��+�� �+�� ����!� .��	 �� �	 �� 
1�= ���= ��� M-"��= ���/ �� B$� �� 
�$���	 )�� �J#
U� 9�
)��	 ;��� �J#
U� �$ -#� B
�F� �
�$�
�
� �
!� �� 
�$���	 )�� 89���� ���/ �� ��+�� C�� � -#� ��
�
� 8
�
#�  � ��o�	

I.�$�= �� -#�	 2�/�/

hu = a

√
u2 − v2

u2 − 1

hv = a

√
u2 − v2

1 − v2

hφ = a
√

(u2 − 1)(1 − v2). K52L

I.�+� t
0( �$ ��o�	 A
k
_� 8
�
#� $� .D( �k+� .����/ �� j�k_	

dxdydz = huhvhφdudvdφ = a3(u2 − v2)dudvdφ. K53L
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���� �� ����	
 ���
	 ��
� 
 ����� ���

����� �

��������	 
�� �� ����
	 
���� �� ���� ���� ������
��� ������� ������� ��������� ������  �!�� "�#� �� $��%�
&'�� �� ()*� +��, "�- .� �. �	 /0�1 "�2� 3�2� 
�����
4 �0��5� 6��4 �� 7�5�

i�
d

dt
|ψ(t)〉 = H(t)|ψ(t)〉. 819

&,� /�� :.�;� �� �.�� <� 3��� =1 '4�� +��, ,� =��� H �� 3�>
	 �0��5� 7��

|ψ(t)〉 = e−
i
�

Ht|ψ(0)〉. 829

&�� /��
��
� '4�;� ��2� �� ������ �?�1�
# +@ ��������	 �� ��A� ���� ����� �� "�2� 
���� 
��� :.�;� ��

U(t) = e−
i
�

Ht. 839

�� �%��
4 .� 
�����
4 �0��5� =1 <�
� 6/��� 3��� B�C :.�# �� '4�� +��, D��� H �� ��A� <�
� �0��5� 7�� =1 ���
&������ �� 
�, �0�
���� =�4 �� �. 
�����
4 =����
E�� �0��5� /�)� /�� +��, �� ������ H(t)

|ψ(t)〉 = |ψ(0)〉 +
∫ t

0

d

dt′
|ψ(t′)〉dt′ 849

���

|ψ(t)〉 = |ψ(0)〉 +
i

�

∫ t

0

H(t′)|ψ(t′)〉dt′. 859

|ψ(t)〉 <�
� ��1 ��� ������� �� �� /�����5� 7�� �� � /�� <.�# 
�*�� +@ F,.� � /�� �0�
���� �0��5� �� �0��5� 7��
$�A� � /�.� ���	 �� '��. �0��5� ���� . �� +@ .�
�� �� +��� �� 6�.�� ��G� H�� �0��5� /��. I
- .� |ψ(t)〉 �
�, �������

&/4�� +��� �� "�J� +���� �� 6/�� ��C
� .�� �� �K�@ .� �;�
L� M�	 � '���	

N

www.Endbook.net



|ψ(t)〉 = |ψ(0)〉 +
i

�

∫ t

0

dt1H(t1)|ψ(0)〉 + (
i

�
)2

∫ t

0

dt1H(t1)
∫ t1

0

dt2H(t2)|ψ(t2)〉. 869

&�.�� H ,� 
�*�� +��� �� ��;A ���G �� /;�� ���G
	 +@.� �� '��. <
� �� �� � ��� ����� .�%���	 +��� �� �. .�� 7��

|ψ(t)〉 = |ψ(0)〉 +
i

�

∫ t

0

dt1H(t1)|ψ(0)〉 + (
i

�
)2

∫ t

0

dt1

∫ t1

0

dt2H(t1)H(t2)|ψ(0)〉

+ (
i

�
)3

∫ t

0

dt1

∫ t1

0

dt2

∫ t2

0

dt3H(t1)H(t2)H(t3)|ψ(0)〉 + · · · . 879

7�� �� �
� 3��E��� 
�����
4 �0��5� �;�
L� =1 <�
� �0O�P� <
� �� :.�# �� <
� 7��,� '4 �� ��� �Q�� H 
>�
H �� /�� 7��.� .�� "��4� �0� 6�
� 
R� I
# +�4 ��Q�� =�0'� 
�S�� :O�G,� � �
� D%A �;�
� ��.� �. <
� �� ��5�

/��
�, :.�# �� H /0�1 7�
�K�.� 6/��� �Q�� �?��H0

H(t) = H0 + V (t), 889

��������	 S��5� � /�� ()*� O? ��� +@ T�- �?���U � /�� /��U +��, �� S? �� �� /�� ��������	 ,� /��A +@ H0 +@.� ��
����� H�� �?���� � '�� 3'4 �C�!� H0 �� �� /�� ��Q�� <�	 V�� �	
� 3'�	� +�*� V (t) 6��4 �� 3'���P ��,@ �����

6'�.�� +��, �� W�
#
.�� ��#�C ,� 
��� ��� �� 3�>
	 6��4 ��()*� H0 = P 2

2m + V (r) ��������	 �� �� ��
�> �� 
R�.� �. ���� "�J� +���� ��
� V;%A 7�� 6'�@ �� ��G�� �K�@ ���
��0� <�	
�� V;%A ,� �4�� T�5! V�� �	
� �� �K�@ 7�� ��4 ���H� ��� 7�� ��
=�4 �� '�� �� T�#�� �. ��� �� �� ����� ��������	 7��
���� 6 /�� �Q�� .���� H0 �� ����L� .� +@,� �4�� =������

&/��
�,

H(t) = H0 + V (t), 899

,� 
�X�� <� ��#�C 
��� ��� �� /�� ������ +��, �� =�0� 7�� �� V =Y ������ 6/�� �Q�� H0 �� ����L� .� V (t) +@.� ��
6/�� ������ ��#�C �� H�� =������ � �.�� 
R� �.�� ���

6
�P�� /4�� "�2� 
���� <�
� �0O�P� <
� �� +��� �� ��@ ���
4 7�� /2� �� /�� +@ ����	 �G��� +@ �� �� �0���
6��4 �� 3'���� +����� <
� �� /�� <H�Q 3'�@ /�'� <
� � /�� /;J� "��� 7�� �� Z���

[
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����	� ��� �

\'��4
� �Q�� � �Q�� ��� �0���� :O�G �� �
� <.�� +��� �� ����Q

V�� �	
� ,� �4�� �� +@Y�Q�� /��A �K�� H 
Y ��� <�]� �0���� :O�G.� �� ���� <.�� /���� �� .�� 7�� <�
�
:.�# �� ����� /0�1 ��� H0 �K�� ��������	 
>� �� ����� �� 6'�
�>.�
A +@ "��5� <H�Q �� V (t) ��5� '���	 ����� �C�!�

=�4 �� �. |φ(t)〉 
�, /0�1 
>� 6�
� �� /�
1 |ψ(t)〉 = e−
i
�

H0t|ψ(0)〉

|φ(t)〉 = e
i
�

H0t|ψ(t)〉 8109

/0�1 <�. �� ��� 
R� ,� ���� �� /�� 7�� =J� /�.� �'�� ��� 
��X� +��, �� |φ(t)〉 /Y 0�1 �� /�� W!�� ����� T�
5�
6/�� 7��� '�� �� /�
1 +@�� � /�� ���*� |ψ(t)〉

/0�1 <�. �� ��5� ()4 7��	 �*Q ,� �. ���� �H0 
U� +�
� 7�� ,� <�
� '����� �/��� 
E# V (t) �� ��� /0�1.�
&/4�� ��	��P 6��.�@ �� /�'� �. |φ(t)〉 
� ���1 �0��5� 7��
���� 6���� 3��� /�� ���*� |ψ(t)〉

i�
d

dt
|φ(t)〉 = i�

(
e

i
�

H0t|ψ(t)〉
)

= −H0e
i
�

H0t|ψ(t)〉 + i�e
i
�

H0t d

dt
|ψ(t)〉

= −H0e
i
�

H0t|ψ(t)〉 + e
i
�

H0t(H0 + V (t))|ψ(t)〉
= e

i
�

H0tV (t)e
−i
�

H0t|φ(t)〉. 8119

YT�
5� ��

VI(t) = e
i
�

H0tV (t)e
−i
�

H0t, 8129

&/4��
�, =�4 �� �. |φ(t)〉 "�2� �0��5� +��� ��

i�
d

dt
|φ(t)〉 = VI(t)|φ(t)〉. 8139

�
�, /�� �Q�� �� VI(t) ��������	 �� �0� '�� �� �'�� "�2� 
�����
4 �0��5� �� $��%� /�.� H�� |φ(t)〉 /0�1 7��
����
/�
� �� �� <
^�� 
R� ,� ���� �� /�� +@,� �4�� 3'�'� 7�� ���H�C 
R� ,� 6 V (t) ,� �K��*� =�';� �� HG /��� <H�Q
+��� �� 15 �%��. �� ���*� 7��
���� 6'��4 �� 3'�� V0 ,� �4�� :�
��X� �K�� � /�� 3'4 ���	@ '�� �� /�
1 H0 ,� �4��

&/4��

|φ(t)〉 = |φ(0)〉 +
i

�

∫ t

0

dt1VI(t1)|φ(0)〉 + (
i

�
)2

∫ t

0

dt1

∫ t1

0

dt2VI(t1)VI(t2)|φ(0)〉

+ (
i

�
)3

∫ t

0

dt1

∫ t1

0

dt2

∫ t2

0

dt3VI(t1)VI(t2)VI(t3)|φ(0)〉 + · · · . 8149
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6/�� �Q�� VI(t) �
 �, ��
 � 3�� E � �� � 0O �P� �� � �� <�
 � <
� 7 �� ,� 15 �% ��. IOP
 � +�� � �� .� � 7 �� � ��
�� ���� �� 3��E��� H� �  �!�� 7��,� 6�.�@ /�'� |ψ(t)〉 <�
� �0O�P� ��� �� +��� �� 10 � �%��. 7�� ,� 3��E���� �

&�� ��� '	��P +@ �]��� 6|ψ(0)〉 = |φ(0)〉

|ψ(t)〉 = e−
i
�

H0t|ψ(0)〉 +
i

�

∫ t

0

dt1e
− i

�
H0(t−t1)V (t1)e−

i
�

H0t1 |ψ(0)〉

+ (
i

�
)2

∫ t

0

dt1

∫ t1

0

dt2e
− i

�
H0(t−t1)V (t1)e−

i
�

H0(t1−t2)V (t2)e−
i
�

H0t2 |ψ(0)〉

+ (
i

�
)3

∫ t

0

dt1

∫ t1

0

dt2

∫ t2

0

dt3e
− i

�
H0(t−t1)V (t1)e−

i
�

H0(t1−t2)V (t2)e−
i
�

H0(t2−t3)V (t3)|ψ(0)〉 + · · · .8159

�. 
�����
4 �0��5� ��	��)� �� `�
L� ,� <� �;�
�
	�� �� '	� �� +���� �� �� '���> �� +����� <
� +@ �� �� ��� 7��
6���� =1

���
	 ����� �� ����	 �	�� �

<�	 /0�1 3a�� ,� ���.� ����� ��
�> �� t = 0 �. +@ �� <��R20.� 6/�� 7�� ����	 �G��� +@ �� �� <� ����� "���
�� t +��, /4b> ,� '5� 6 /��� ����Y/0�1 �� /0�1 7�� V (t) =������ ��G� =�0'� 6/�� Ei <c
�� �� |i〉 =J� H0 ��������	

\��� '	��P |f〉 =J� ��������	 
Y��� <�	 /0�1 3a�� ,� 
��� ��� .� ����� �0���1� �Q
&�� /��
��
� "��� 7�� Z��� ������ U(t) �. "�2� 
���� 3�>
	

Pi,f = |〈f |U(t)|i〉|2 =: |Mi,f |2, 8169

+@.� ��

Mi,f ≡ 〈f |U(t)|i〉, 8179

<��5� �� �� ��.�� 3��� �. "�� � 

E# ���G �K�� +����� ��� .� 3�>
	 6'��4 �� 3'���P .�b> "���1� Pi,f � .�b> �����
`�
L� 7��.� �� /�� +@

U(t) = e−
i
�

H0t +
i

�

∫ t

0

dt1e
− i

�
H0(t−t1)V (t1)e−

i
�

H0t1 8189

&��.�@ �� /�'� ���� �G�� H�� |f〉 �= |i〉 '�A �� �

Mi,f =
i

�

∫ t

0

dt′eiωfit
′〈f |V (t′)|i〉. 8199
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+@.� ��

ωfi =
Ef − Ei

�
. 8209

�� ��! ��"� �

<�
� �� '�.��
�.� �]���� ��� <�	 "�J� 7�� 6���� �� �50�%� �. ��� "�J� '�Q e�P 3'�'� �� �� �G�� +�'� V)� 7��.�
6'�.�� �
�.�� '�� ��	��P �?'5� �� e�P <�	 "�J� <.����

�� �� �� ���	
 ���

H0 + V �� H0 ,� ����	@ �� ��������	 � ��4 ��]�� ��������	 .� 
�.@ .���� <
��X� �� /�� +@ �. .� �� "O�P� ,� .�R��
6'4 '	��P 74�. <��H� 
�.@
��X� ,� .�R�� 6'�� 
��X� /�� /��U V +@.� ��

��	� +�*� 
�, =�4 �� �. <
��X� 7��Q ������ ��

H(t) = H0 + e
t
τ V. 8219

��	��P ��0�1 7��Q.� 6H0 + V �� /�� 
��
� ��������	 t = 0 �fR20.� � H0 �� 
��
� ��������	 �t = −∞ �R20 .� 7��
����
&/4��

Mif (0) = δif +
1
i�

∫ 0

−∞
dt′ei

Ef−Ei
�

t′〈f |e t′
τ V |i〉

= δif +
1
i�
〈f |V |i〉 1

1
τ + i

Ef−Ei

�

8229

+��� �� '4�� τ >> Ef−Ei

�
3�>
	 6��� '	��P g.H� .���� τ 
���.�� �� /���5� 7�� �� '4�� 
�.@ ���P :�
��X� �� ��A�

&�
� 3��� 
�, =�4 �� �. S�� :.�;�

Mif (0) = δif +
1
i�

〈f |V |i〉
Ef − Ei

, 8239

3��� |i〉 ��5� ��0�� /0�1 ��C�� "�2� |ψ(0)〉 +@.� �� Mif = 〈f |ψ(0)〉 �� /��
��
� DA�� .� "���1� ����� �� ����� ��
��.�� 7��
���� 6/��

|ψ(0)〉 = |i〉 −
∑
f �=i

|f〉〈f |V |i〉
Ef − Ei

. 8249
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"�2� /�� H0 + V ,� /0�1 3a�� �� �� F
^���� /Y 0�1 �� |i〉/0�1 �� '��> �� � �.�� <� 3��� ���P <��5� �%��. 7��
+@ () �%��. �� �G�� �� H�� +��� 
�.@ <��5� �� '4�� 
�.@.���� ��������	�� :�
��X� 3�>
	 /0�1 
��� :.�;� �� 6 /�� ��C��

�%��. .� τ ����, :�
��X� i��L� �� /��

τ >>
�

Em − En
, 8259

6'��� �� 
��X� |i(τ)〉 �� H(τ) �f ��	@ :�
��X� /2� H(0) ,� |i(0)〉/Y 0�1 3a�� �� 3���@

�����
 ���	
 ���

�. ��0�� +��, �>��� <�
� 7��Q �	 6V (t) = V0e
− 1

2τ2 t2 ��5� �/�� �����> D��� �� :.�# �� "O�P� �� '��� j
C "�1
��.�� :.�# 7��.� 6��
�> �� ∞ �. ���K� +��, � −∞

Mi,f =
i

�

∫ ∞

−∞
eiωfit

′− 1
2τ2 t′2dt′〈f |V0|i〉

=
τ
√

2π
i�

τe−
1
2 ω2

fiτ
2〈f |V0|i〉, 8269

�]���.� �

Pi,f =
τ22π
�2

e−ω2
fiτ

2|〈f |V0|i〉|2. 8279

�� +��� �. <H�Q �Q �%��. 7�� 6/�� +�������� +�'� /����� �'��� �� .�%���	 :.�;� 7�� /��. I
- �� '��� /A�
:.�;� '�� �� T�
5� �. "O�P� �� ����, i��L� 6 1

|ωfi| ,� /�� :.�;� ��.�� ��G� ����� ��P.� �� <� ����, i��L� \'��
+��� �%��. 7�� 6/�� ���K>�� "O�P� <��5� �� �Q�� <�	 τ � 
�.@ "O�P� <��5� �� g.H� <�	 τ �� ��5� 7�'� �τ ,� /��
.b> '���� �� ���	 /0�1 �� �K�� |i〉/0�1 7��
���� 6/�� �Q�� .���� Pi−→f "���1� 3���@ �τ � 1

|ωfi| 3�>
	 �� '�� ��
k
4 �K�@ <�
� �� '��

|ωfi|τ � 1

6'4��.�
A
�
�� ���
��X� �� ��5� 7�� �� /��. .� �� "O�P� ��lA ,� 
��� ���� �� �]��� 7��

������� ���	
 ���

���-��X��
��0� V��� �� ��� V�� �	
�  �� 7��,� "�J� 7�
��K� 6 �.�� �����
� =�4 "O�P� =������ �.��� ,� <.����.�
� ��� ��
2� �V��� mbG � 
�S�� ,�
� �� 7���� ,�
� �� ,� ��� ��
2� �V��� 
�R� ���.� +�>���> <�	 3'�'� �� 
]�� �� /��

&�.�� �. 
�, ��� =�4 "O�P� =������ <�.��� 7��Q.� 6��4 �� +@
��R� � V��� =��>

n
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V (t) = V0e
iωt + V †

0 e
−iωt. 8289

�� ��4 �� 
��
� "���1� ����� ���	 =������ 7��Q <�
�

Mi,f (t) =
1
i�

[
〈f |V0|i〉

∫ t

0

ei(ωfi+ω)dt′ + 〈f |V †
0 |i〉

∫ t

0

ei(ωfi−ω)dt′
]
. 8299

��.�� 6�
� �;��2� +��� �� ��1�. �� �. +��, <�. <�	 "�
����
∫ t

0

eixt′dt′ =
eixt − 1

x
= e

ixt
2

sin xt
2

x
2

, 8309

�� ��4 �� 
��
� 29Y"���1� ����� 7��
����

Mi,f (t) =
1
i�

[
〈f |V0|i〉e

i(ωfi+ω)t
2

sin (ωfi+ω)t
2

ωfi+ω
2

+ 〈f |V †
0 |i〉e

i(ωfi−ω)t
2

sin (ωfi−ω)t
2

ωfi−ω
2

]
. 8319

/�� ����, S? ��5� ���� �� m�)��� .�b> <�
� ��P "��� +'��
� <�
��� �� ����, ��5� t +��, �� ���� �� /A� "�1
�������� ����� �o)*� <�	 +��, �� i��A.� � ������
��� 
R� ,� �'4�� �Q�� .���� ������
��� 
R� ,� �Q
>� ��
kY 
4.� �� ���	 x <�
�
�� ��4 �� �Q�� :'*� �	 x 
��� <�,� �� sin xt

x D�� � g.H� <�	 +��, .� 6/�� g.H�.����
,� ���.� �� /4�� '	��P ��G� ���	 /0�1 <�
� �K�� .�b> "���1� g.H� <�	 +��, <�
� 7��
���� 6'��� B'# |x|t < π

&'��� B'# 
�, ���
4

ωfi + ω ≈ 0 −→ Ef ≈ Ei − �ω, 8329

��

ωfi − ω ≈ 0 −→ Ef ≈ Ei + �ω. 8339

:��E� �� '�� �L0� �. ���	 ��S 7��.�b> '���� �� �K�� ωp���
C �� �����
� "O�P� �� �� '�	� �� +�*� �%��. �� 7��
�� k�L� Ef = Ei − �ω <c
�� �� /0�1 �� Ei <c
�� ��Y/0�1 ,� �������� ����� 32Y/0�1 .� 6'4�� �ω �� 
��
� �K�@ <c
��
6��	� �� +�*�M emission �� �. <.�b> 7��Q ����� =�0� 7��	 �� �'	� �� p� ��2� �� �. �ω = Ei − Ef <c
�� � '��
�ω = Ef − Ei <c
�� � '�� �� ��5# Ef = Ei + �ω <c
�� ��Y/0�1 �� Ei <c
�� �� /0�1 ,� �������� ����� 
�� /0�1.�
7��Q "���1� � ����� ������ �� 6��	� �� +�*�Mabsorbtion �� �. <.�b> 7��Q ����� =�0� 7��	 �� 6�
�> �� ��2� ,� �.

q

www.Endbook.net



,� +��� �� ��1�
�M emission ����� 7�4��.� �� ���� /A� /�� �C��.�� 7�� <�
� 6������� 
� 3��� :.�# �� �. ���	.�b>
&/4�� ��	��P �]���.� 6�
� 
R� I
# /�� �Q��.���� �� 
�� ���G

M emission
i,f (t) =

1
i�

[
〈f |V0|i〉e

i(ωfi+ω)t
2

sin (ωfi+ω)t
2

ωfi+ω
2

]
. 8349

�]���.� 6�
�
R� I
# /�� �Q�� .���� �� "�� ���G ,� ��1�
� +��� �� Mabsorbtion 7�4�� .� 7��Q �	

Mabsorbtion
i,f (t) =

1
i�

[
〈f |V †

0 |i〉e
i(ωfi−ω)t

2
sin (ωfi−ω)t

2
ωfi−ω

2

]
. 8359

,� S�� �%��. �� .� (0�P <�	,�C S? �� �� /�� 7�� F� =�0� 6'4 '�	��P
� 3��� ���� . �	,�� .�b> :S���1� 7�4�� <�
�
&�
� 3��E��� 
�, �%��. ,� +��� �� �?���U �'�� . �� 7��

sin2 xt

x2
≈ 2πtδ(x), 8369

�� �� /�� �C�� .�� 7�� <�
� 6/�� W�2# S�� �%��.�
Q �� ��	� �� +�*� /�)� 6�
� 3��� �. S�� ���� . � �
� 3��E���
��.�� 6���
>
� ��0�� <�	 "�
����

|
∫ t

0

eixt′dt′|2 = |
∫ t/2

−t/2

dt′eixt′ |2 =
∫ t/2

−t/2

dt′eixt′
∫ t/2

−t/2

dt”e−ixt” ≈
∫ t/2

−t/2

dt′eixt′
∫ ∞

−∞
dt”e−ixt”

=
∫ t/2

−t/2

dt′eixt′ [2πδ(x)] =
∫ t/2

−t/2

dt′2πδ(x) = 2πtδ(x). 8379

6��.�@ /�'� �. +��, '1�� .� .�b> <�	 "���1� ��5� .�b> <�	 "���1� r
� ������ �� +�
� 3��� ���,�'5� 7��
����
&/4�� ��	��P

Γemission
i,f (t) =

2π
�
t|〈f |V0|i〉|2δ(Ef − Ei + �ω), 8389

�

Γabsorbtion
i,f (t) =

2π
�
t|〈f |V †

0 |i〉|2δ(Ef − Ei − �ω). 8399
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6'���	 .�K*� FermiGoldenRule ��
C ��O- +���A �� �%��� . 7��
I
- .� <�
E�� D��� 7��Q ��G� ,� /���� ��� �?��! 6/�� <c
�� <�L� +���A 3'�	� +�*� I
- ���� . 7��.� ��0� D��� ��G�
/0�1 ,� �	�
> �� .�b> r
� '4 '	��P �;��2� � �.�� ���H�C /��	� �� <H�t�@ 
�]��
� �
�, ��� +�
�� "���1� r
� /��.

6/C. '	��P 7��,� ���K� <�	 /0�1 <�. <
�> "�
���� �� ��0� D��� ���K� �;��2�.�� /�� ���H� ������ �	 �� <�	
mbG 3'�'� u��� e−iωt ���G `�
! � =��> 3'�'� u��� eiωt <���G `�
! �"O�P� =������.� �� '��� /A� 7��Q �	
3��E��� /�� 3��� � .�� V�� �	
� �K�@ �f*�� �� ���>���> <�	 3'�'� <�
� ��
C ��O- +���A,� �� ��� 3���@ ���� 6��4 ��

6����

#��$ ������ �$	 ����	%���� �

�� ���� �;��2� ��	��P �� 6���� �50�%� �������� ������ m�Q.�Q.� �. V��� ������ ��� V��� ��	��P �� V)� 7��.�
�� �
� '	��P 7��5� �?���K� "���1� 7�� 6/��.'LQ ������� �� +@ �� I :'4� ωp���
C�� <.�� �� ��A� ��� �� V��� "���1�
"��� 7�� ��#�CO� �G 7��.� 6'�� 3H���� '���� �� �. +@ <�	 ��� ,� <'#.� '���� ,�> �� �� �� ��A� :�o)*� 7���� <.��
:'� �. .�� �� .'A �Q
	�
�, �/�� 74�. O? ��� "��� 7�� <��K4 Z��� 6��4 �� 3'�����,�> �� ��'� �Q .�� �� ��4 �� v
%�
����, :'� �� `����� �?��L��� 3'4 3H���� <�	 ��� ��'5� DA�� .� 6���� 3H���� �. <
�*�� <�	 ��� ������ �� �������� <
�*��
� '4�� .�� V��� +��, �� `����� ��� +'4 3H���� "���1� �� ��.�� .�R��� =�0� 7��	 �� 6��4 �� 3'�����,�> �� .�� �� /��

6'4�� +��, '1�� .� V��� "���1� /���� �� ���� m��1 '��� �� �� �. ����5��� /���
/0�1 ,� ��� �� /�� |i〉/Y 0�1 .� ��� t = 0 �R20.� 6���� �� �50�%� �. ���> +c�.'�	 ��� �� V��� �>��� <�
� /�)�

&/��
�, =�4 �� ���-��X��
��0� +�'�� .�l1.� ��� ��������	 6/�� �E�� <c
�� �� '�L� <�	

H =
P 2

2m
− Ze2

r
+

e

mc
A ·P 8409

+@.� ��

A(r, t) = A0eei(k·r−ωt) + cc. 8419

�� /�� <� ���.��
� e � .�� p���
C ω �.�*��� .��
� k �w�� ����� A0 6/�� ���)� w��H� cc ,� .�R�� �%��. 7��.�
3��� +�*� N =�4 .� �� �t�@ '���� +��� �� 3.���	 �.�� �%P V;%A �� �� <.�� <�
� 6'	� �� +�*� �. .�� V;%A /KG
���@ "���1� t �R20.� �� ����'� ��	��P �� 6/C
>
R�.� z <����. .� �. .�� V;%A � y <����. .� �. .�*��� .��
� /�� 3'4
���	 �;��0�� ��x�G 
�U�� /2� ,��	 ��4 �� 3'�� ��� ,� �� ��A� +�
��0� �Q
>� \ /��.'LQ '4�� 3'4 3'�� ��� ,� +�
��0�
� �.�� ()*� ����� �� /0�1 ��.� �� /E> ���P `�
L��� +��� �� 7��
���� � ��4 ��.�� ���	 ,� ��, ���P /�� 3'����A��

6p �f ���� �� /�� ��0�1 3'�	� +�*� �� ��
�> �� |p〉/Y 0�1 �. +�
��0� ���K� /0�1 7��
���� 6/�� 3'4 ��,@

y
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X

Y

Z

k

e

P

�

�

6'�� �� ��,@ p ���K� ����� �� �. +@ +�
��0� � '��� �� ��� �� �� �� �%P V;%A �� <.�� &N =�4

&��.�� ��
C ��O- 3'��A
����

Γionization
i,f =

2π
�
|〈f |A0(

e · P
mc

)eik·r |i〉|2δ(Ef − Ei − �ω). 8429

������� 
�, <�#OP =�4 �� �. :.�;� 7�� '����� /�)�

Γi,p =
2π
�
|Mi,f(p)|2δ(Ef − Ei − �ω). 8439

"���1� r
� �� ���� "��� 
>� 6'	� �� /�'� �. p ���K� ����� �� �. +�
��0� m��
� � ��� V��� "���1� r
� :.�;� 7��
/�� dΩ +@ <� � ���, <� �K � � � � C
>.�
 A (θ, φ) � ���, .� N =Y �4 $��%� �� <,��.��4@ � � +�
 �� 0� m� �
 � � � �� V�� �

&,� /�� :.�;� Z��� /��.'LQ

Γi;θ,φ,dΩ =
2π
�

∫
p2dpdΩ|Mi,f (p)|2δ( p

2

2m
− Ei − �ω). 8449

�� ���� �� /A� "�1 6��4 �� ��C
> p <�. �LC "�
���� +@.� ��

δ(
p2

2m
− Ei − �ω) = m

[
δ(p−

√
2m(Ei + �ω)) + δ(p+

√
2m(Ei + �ω))

]
. 8459

�� /�'� �]���.� � /��
E#
�z '4�� /;J� Ei + �ω 
>� �K�� H�� "�� <��0� D��� � /��
E#��
��
� 
�� <��0� D��� 7��
����
��.�@

Γi;θ,φ,dΩ =
2π
�
|Mi,f (p)|2p=p0

mp0dΩ, 8469
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��� '�A,� �. +�
��0� '����� �*��� <c
�� �� '�� �� +��� DA�� .� Ei + �ω > 0 k
4 6p0 :=
√

2m(Ei + �ω) +@.� ��
6'�� ��,@

��.�� 6���� m��1 �.Mi,f ���
���
o�� �� /�� +@ /�� 3'����A�� �� <.���K��

Mi,f (p) = 〈p| e

2mc
eik·rA0e · P|i〉. 8479

7��
���� �/�� ���� ��5�� ,� 
� g.H�.���� .�� w�� "�- �� ����� �� �������� ��� �� VE�� B�C�� .�� ��1 �� � �|
� .�� 
>�
`�
L� ,� B�C :.�;� .� ������ ��

ek·r ∼ e
a0
λ ∼ 1 8489

&��4 �� 3��� .���� M ���
��� 
o�� �;��2� �]���.� 6���� 3��E���

Mi,f (p) = 〈p|eA0

mc
e · P|i〉 =

e

mc
A0e · p〈p|i〉. 8499

&/4�� ��	��P '4�� +c�.'�	 ��� ���� /0�1 ��0�� /0�1 
>�

〈p|i〉 =
∫

1
(2π�)

3
2
e−

i
�
p·r 1

(πa0)
3
2
e−

r
a0 d3r

=
1

(2π�)
3
2

1
(πa0)

3
2

∫
e−

i
�
p·re−

r
a0 r2drd cos θdφ 8509

&��4 �� �;��2� ��1�
� B�C "�
����

∫
e
− i

�
pr cos θ− r

a0 r2drd cos θdφ = 2π
∫
r2dre

− r
a0
e−

ip
�

r − e
ip
�

r

ipr
�

8519

����� �� �G����∫ ∞

0

re−λrdr =
1
λ2

��.�@ �� /�'�

〈p|i〉 =
1

(2π�)
3
2

1
(πa0)

3
2

2π�

ip

[
1

( ip
�

+ 1
a0

)2
− 1

( ip
�
− 1

a0
)2

]

=
1

(2π�)
3
2

1
(πa0)

3
2

−8π
a0

1

( 1
a2
0

+ p2

�2 )2
. 8529
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Mi,f (p) =
1

(2π�)
3
2

1
(πa0)

3
2

eA0

mc
(e · p)

−8π
a0

1

( 1
a2
0

+ p2

�2 )2
, 8539

�

Mi,f (p)|p=p0 =
1

(2π�)
3
2

1
(πa0)

3
2

eA0

mc
(cos θ)

−8π
a0

p0

( 1
a2
0

+ p2
0

�2 )2
. 8549

&'4 '	��P +��, '1��.� "���1� r
� 46 <�%��. �� �G����

Γi;θ,φ,dΩ =
1

(2π�)3
1

(πa0)3
2π
�
mp0

⎡
⎣eA0

mc

8π
a0

p0 cos θ

( 1
a2
0

+ p2
0

�2 )2

⎤
⎦

2

dΩ, 8559

� �.�� .�
A (θ, φ) <����, .� �� <,��.��4@ �� +�
��0� =��> � +c�.'�	 ��� +�
� 3H���� <�
� �. "���1� r
� S�� :.�;�
����, 
��� <�. /���� �� �����'�� �. ��� +����H���� "���1� r
� ���@ <�
� 6'	� �� +�*� �. �.�� dΩ ����, +@ ���	� 3,�'��

&�� /��
��
� =� "���1� rH� 6��
��� "�
���� �	

Ri =
∫

Γi;θ,φ,dΩdΩ =
1

(2π�)3
1

(πa0)3
2π
�
mp0

⎡
⎣eA0

mc

8π
a0

p0

( 1
a2
0

+ p2
0

�2 )2

⎤
⎦

2

4π
3
. 8569
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 ��  ��>�� ����"����T�> 	��"� � 9:��� �� ��U �/ 9�6 !/ 'V� ����+ ���
 *�+ 	
 ��� �+�

W�.H� � ���� ����+ �/ 8��U H� ����� 'V� W�. !/H� ��� ��= 	
 3/� , �� �� XYG� 3���� !���"� 3����
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 �2���� �/� g���

g�����7= �� �/�d+ m��56 ���7� ��� 3��= �6� g��� ��U !/ � 9�6 !/

	= �� � 	��@= ���R 3/� ��� 3��=�6� g �� �� M�(�� 8�<A�� 9�d+ !/ � ���R�� �� !/ �� F� � ����+ � /�
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 �� M�(�� �� ����+ H� 9F�= 	= ��5
�� 8B �4�

����� � �������
 !���"� o�J( K�_A� H� ���� �/�[� 3/� ,��� 	/��� ����+ H� ���� �/�[� �����> �� p� 3/�� 
3/� ���
 �� �4� ���
 %��� �������
 9�� ����� 9��� �e�&�� '(� ��6�/ !/ H� 	"�� 9�S� ,��� �5�.��C����"��

,�/H�5� �� !E
 	� 	A$ 	A$ �� �/�[�
���+� M�(�� 9��� �� �� ��(� �5/�� �� I���� �$�"���"�� 9�� ��/�$ 	E� ����
 M�(�� �������
 !���"� �������
 �6�
�� ��@�� 3/� ,���
��"�� �� �/� �B�$ ��� �����E� � ��H����"�� �� �� �� ����+ ������ �� ��@G/��H�� ,�/�<���"� F�� �� ����+
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 	"/ �� �� � k 3q �4� ��G����� �� !/ 9��� ��6�� ,�����G����� �� ��  �Ee ;<k
 �� �� , �� �� XYG�
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λ

∑
k
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'V� 9� 	/�$ 9���� �� ������ �� ����� 	��� ��
��� ����+ 3/��= �� ��6��
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 ��� 3/� ���� 
�)�� N�������7� ���� �� 	
 ���5����/1$ ����G� �5�.��C����"�� ����� , ��  �2� `� �� ��� �/ �5�.��C����"��
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〈E(x, t)〉 := 〈Ψ(t)|Ê(x)|Ψ(t)〉, 〈B(x, t)〉 := 〈Ψ(t)|B̂(x)|Ψ(t)〉, `5b
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∇〈E(x, t)〉 = 4πρ(x, t),
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∇× 〈E(x, t)〉 = −1
c

∂

∂t
〈B(x, t)〉,

∇× 〈B(x, t)〉 =
1
c

∂

∂t
〈E(x, t)〉 +

4π
c
J(x, t). `6b
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 8B �4� ��E� � x�<�F/�� �/�[�� ����� 9���@AEe 	
 ���� �� 3��= ��

i���


∇Ê(x, t) = 4πρ(x, t),

∇B̂(x, t) = 0,

∇× Ê(x, t) = −1
c

∂

∂t
B̂(x, t),

∇× B̂(x, t)〉 =
1
c

∂

∂t
Ê(x, t) +

4π
c
J(x, t). `7b

,�/� � �
�L� W�( �)�� 9��� H jq /��� 3����H� �6 �� 9��� ��� ���5� x�<�F/�� 9���@AEe B�� 9���@AEe 	
 ���
 �
 
�@/ 8��<e 	�

Ê(x, t) := ÊH(x, t) := U †(t)Ê(x)U(t), B̂(x, t) := B̂H(x, t) := U †(t)B̂(x)U(t). `8b

�(�> 9�� ���R�� ����+ ,�/��� �� ���� �5�.��C����"�� ����� �� �� ����+ 	k��� H� ������/�[� f/��� 	�
�������
 !���"� %�&�� ��(� �� K��k� 	
 ���5� �/���/1$ ����G� �5�.��C����"�� 9�� ����� � ���5� 8�<A�� 9�d+� 
����G� 3/� N�������7� ,���
 �� XYG� �� �� 9��6 �H���� '(�R 	
  �� �� � � �<5� �)�� 	� ������ �/���@AEe

,���
 �� h�( ��5
�� 8B �4�� �)�� 	� Z���� �6�<�F/�� 9���@AEe 3��= �� � ���/1$

3��=�6� g��k= 	��"� 9�� ���R �n/� g���5� 9:��� 9�� ���R �n/� �����+ ��= 9�� ���R �/� 	
 ����$ ���� �� ��R
	
 �E5
 	� ����� 	���  �2� P̂ � Ĥ 'V� �/���@AEe �5/�� �� I����� 	��� ���)_� �����Y� 3 9�� ���R �6�� ����

Ĥ |Ψ〉 = (n1�ω1 + n2�ω2 + n3�ω3 + · · · · · ·) |Ψ〉,
P̂ |Ψ〉 = (n1�k1 + n2�k2 + n3�k3 + · · · · · ·) |Ψ〉. `9b

��4� ?�)�� ���� ��
� 3 'V� �/�� ���R ��/H g ��EG� ���� ����+  ��4� 	
  ��  �2� 9�@AEe �/� 	
 ����$ ���� �� 3��= ��
��4/ I�� '/�
F�E� F�� ���� 8��_�� 9�� ����+  ��4� ��� ��5"/ '
 	��"� � 9:��� 	
 ���R � 3�� ����� 	
 ���
 �� ���$
����+  ��4� 	
 �/�����7� �n/��� ����� �� 9�� ���R �n/� �� ���R 3/� 	
 ���� 	���  �2� N̂ 'V� 9�@AEe �/ �/1$ ����G�

��4/ I��
 XYG� �� ��

N̂ |Ψ〉 = (n1 + n2 + n3 + · · · · · ·) |Ψ〉. `10b
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	�>�� B̂(x) � Ê(x) 9�� ����� ��4/ �A(� 9���/1$ ����G� H� �5/�� �� �@E� 9���@AEe 3/� 	
 ��� �� �)� 	�"�
�A
 ?�+ �5/�� �� 	k7� !/ 	� Z���� 9���/1$ ����G� 	� � ���5� 9������ 9���/1$ ����G� N � P I H 	
 �S��H� ,����

i����� 	��� �� �/H

Ĥ =
∫

Ĥ(x)dx =
∫

Ĥ(Ê(x), B̂(x))dx

P̂ =
∫

P̂(x)dx =
∫

P̂(Ê(x), B̂(x))dx

N̂ =
∫

N̂ (x)dx =
∫

N̂ (Ê(x), B̂(x))dx. `11b

�����+ !� �q ��R !/ � ,��� �_�� ���� 3/� Q��$ g�5� B̂(x) �/ Ê(x) �q ��R �n/� 3 'q V� �����+ ��= ���R !/�/�
�
 ����+ ��G��  ��4��� 9�� ���R 9��� 3�4� ?�e 3/� ,��� 3�4��� 8�G� �d+H� 	k7� !/� �5�.��C����"�� ����� �H����
%�� 3/� 9��� 	
 ��4� 3/� 	�  � � �� 3��H� �<5� ��. 	�  �� ��  �/H ���5����5��� ����+  ��4� 	
 ��
� 9����  �� ����
�5�.��C����"�� �����q��4k
 ?�e � ��F�>� �+� ����R 3��=� , �� �� F�=�� 〈E2(x)〉 �� 〈E(x)〉2 �<5� W#�>� �� ���R

,�/ �6 ��H�� !��#
 j�.��C����"�� 9��� 	� �� � �5�� ����G� '��


g���5� ����� 9�� ���R ?�E� �����+ ��= 9�� ���R �/�
g �>�� �� N ��4/  ��4� �/ � 	��"� I9:��� 9���@AEe ���� �� 	��@=

%�&�� ��(� 	� 3��uE� � �/��@� 9�2 ��� ��� 	/��� 3��G�� N��� ��� 3��5Y� 	
 �� ���H� �����+ �/�[� �����Y� �6�
	/�$ !/ 3 9�� ���R 	
 ��/�@� �/�� �5�� �5�.��C����"�� D�� !/ F2 9F�= ��� 	"�/�� ����� ��</�$ �������
 !���"�
3/� 	� , �� �� 0���2 �� ���R 3/� ���E� N��� �d+ 3/� ,��� �� '�"G� j�.��C����"�� ����� 9�� ���R 9�d+ 9���
��U n 9���d+�/H 	� �� �� ���
 M�(�� ���Y� �� �d+ 3/� 	"�/� 9��� ,��/�6 �� Fock Space �/ v�+ 9�d+ �aR#k(� �d+

��5/�� �� � ���
 �� 	/FS� m� 9�

F = H0 ⊕H1 ⊕H2 ⊕H3 · · · ⊕Hn⊕ `12b

	
 ��� 9�4� !/ 9�d+ �/H !/ H0 ,�/� ��  �2�� �����+ n 9�� ���R ?�E� N��� 	
 ��� �/�d+ Hn ��� 	

���� �� ,����� �� #r > ���R �� �� � ��� �� ��G� |0〉 �� �� �� �� 3/� , �� �� �����  ���� �����+ z�� 	
 9�� �� N���
	� ,���� ����+ ;��
 �/ ;/�F+� �����
 	
  �
 M/�4� ��+ � KA> 9���@AEe ��� 	� �d+ 3/�� �� �<���� � ��_� 9���@AEe
	��� �� �/H ��(�> 	
 ���
 �� M/�4� (âi, â

†
i ) �q@AEe �_2 !/ (ki, λi) 8�[YG� �� ����+ �� 9�H� 	� �� K�
 8��<e

i�����

âi|n1, n2, · · ·ni, · · ·〉 =
√
ni|n1, n2, · · ·ni − 1, · · ·〉

â†i |n1, n2, · · ·ni, · · ·〉 =
√
ni + 1|n1, n2, · · ·ni + 1, · · ·〉. `13b

i���
 �� h�( �/H 	k��� � ���@AEe 3/� 	
  �� �� ?�A4� ��R��� 3��= �� ,âi|0〉 = 0 	
 ��� o&��

[âk, â
†
l ] = iδk,l. `14b
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 � ��G� ��R��� ���� �� 3��= �� ,��/� ��  �2�� |0〉 �q ��R 9�� â†i 9���@AEe �O� �� �����+ !� 9�� ���R 3��= ��
	


â†i âi|n1, n2, · · ·ni, · · ·〉 = ni|n1, n2, · · ·ni, · · ·〉. `15b

�� !/ F� ?� ���� Q��$ 	� 3/������ , ��E� �� �� (ki, λi) %�� H� ��4/ i %�� H� 9�� ����+  ��4� â†i âi �@AEe 3/������
s5R�� ���@AEe 3/� �5/�� �� �����  ��4� � 	��"� I9:��� 9���@AEe 9���� �� �n/� �����Y� �� ���R 3/� �6� ,�/��

i����� 	��� �� �/H '"� ��+ � KA> 9���@AEe

N =
∑

i

â†i âi

H =
∑

i

�ωiâ
†
i âi

P =
∑

i

�kâ†i âi. `16b

��4/ ����� 9���@AEe s5R�� 	��@= �a4
�� �� �@AEe 3/� �/� 	
 ��� 3/� ���� ,�/������� ?� ���� '��
 Q��$ 	� H��� ���
!/ H� B̂(x) � Ê(x) 9���@AEe 3�� N�� �� 	
  �� �� 	�+�/ ��
� ���� 3/� Q��$ -
�� � g���� �� ���� B̂(x) � Ê(x)

,���
 ���$ �� â†i � âi 9���@AEe � W�.
	"�� ��R � �/�� �"� ����� 9���@AEe 3�� 9�@d/�4� 	k��� ���� � ��<J( z���� 	
 ��� 	�+�/� ���
�� K�
 ������>
3/������ , �� ��H�{� !�����
 9����C�� �/ ���/1$ ����G� 3�� 9�@d/�4� 	k��� !/ � � ���
 �/ 3�+�/1$ �� ;����
 �a����
,���
���
�� �� !�����
 �/�S��2 N��� � 	.���� 9���@AEe 3�� j|� � ��� X�YG� �� !�����
 9����C�� �5/�� �� �5Y�
	_��� 	E� ��/H ��� X�YG� �� '7�5� 9����C�� �5/�� �� !�����
 9����C�� 3�+�/ H� '<
 �5�.��C����"�� �����  ���� 
����� ��4/ X��> j�.��C����"�� ����� 	� ��  �> �4� 	� 3/�H� ,���5�� '7�5� �@/�"/H� �5�.��C����"�� 9�� ����� 9��
	_��� 	E� � ��� ���
 �_(�� ����� �� ���"�� '�5���$ ������ �� 	
 ���� �� ������ 3��= 9��� ,���
 ��  ��J� � �� 0��{� 

��4/ ��/� �� ���� �5�.��C� '�5���$�� �� H� ����� 9��

B = ∇×A

E = −1
c

∂

∂t
A. `17b

����|� ������ �� ����� '7�5� 9�� 	_��� 3��4� H� j$ ,∇ · A = 0 ��4/ ��
 �� h�( F����� 	r ��E�$ Z��� A 3��= ��
����� 9n��� 6B 	
 � /� 	 �>��� !��#
 j�.� �C����" �� p� H� g�5�= ����� !��#
 ��� � A � ��� � 9n��� 6B 	


i�� ������� ����� 	��"� � '
 9:��� 	
 ���� �� 3��= �� , 1
8π (E2 − B2) �� �������� �5�.��C����"��

H =
1
8π

∫
dx(E2 +B2), `18b

}

www.Endbook.net



�

P =
1

8πc

∫
dxE ×B. `19b

�/��� �� ���� ���
 3��= �6� ,��5/��� A ����� ��4/ '7�5� 9����C�� s5R�� �� 9n���6B 	
 �����)�

L =
1
8π

∫
1
c2
∂

∂t
A · ∂

∂t
A− (∇×A) · (∇×A)dx `20b

q9�� ��  �J�� H� � �_��� �� ��R

(∇×A) · (∇ ·A) = ∂jAk∂jAk − ∂jAk∂kAj `21b

�� 9n���6B 8��<e F����� Z�� H� � �_��� 3��= �� � '��
 K�G� 8#E2 H� � �
�L� W�( � ǱF2 	� ǱF2 9��6 ���@����
i��5/�� �� �/H � �� '"� 	�

L =
1
8π

∫
dx

1
c2

∂

∂t
A · ∂

∂t
A−Ak∇2Ak. `22b

�������� A �q ���� D� F� 	��"� 	
 ���� ���)����� !��#
 	/�L�H� ,��� ��� 	���� Ȧ � A ����� s5R�� 9n���6B 3/�
i��

Πk(x) :=
∂

∂Ȧk

L =
1

4πc2
∂

∂t
Ak = − 1

4πc
Ek. `23b

,��� �"/��"�� ����� IAk ����� D� F� 	��"� 3/������
i���5����
�� �/H �����$ 9�� 	���
 	k��� 3/������

{Ak(x), Al(y)} = 0,

{Ek(x), El(y)} = 0,

{Ak(x), El(y)} = 4πcδ(x− y), `24b

i �� ����>�/H '"� 	� ����A���� �

H =
∫
dx

[
Πk(x)

∂

∂t
Ak(x) − L(x)

]
=

1
8π

∫
dx [E · E +B ·B] . `25b

H��� N��� � 3/� 	
 ��� �
1� ��� ?HB �2 3/�� ,�5�.��C����"�� ����� 9:��� ��E� F2 �5�� 9F�= ����A���� 3/������
3/�� ,���� ��6H�� �/� � �
 ��Ee� F����� 	��E�$ Z�� 'V� A ����� 9�� 	_��� 9�� 	
 9 ��
 �� �� ���� 9��"�� �E
 	�
3�e ;����
 %�&�� ��(� �� K��k� 	
 ��� �� ��� �)� 	
 	u�� ,�>� �$ �����Y� �� �6��u�$ � M/��t 3/� 	� �� p� 

]
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� Â(x, t) ��4/ x�<�F/���/�[�� �������
 9�� ����� 9��� �S��H� � Ê(x) � Â(x) �������
 9�� ����� 9��� �� N��� � 3�E�
��E�H� � �
�L� W�(�� 3/������ ,���
 0�5R 9��5� 9�� ���H � �� �/�S��2 N��� � 	"���� Z��G� ���5����
�� F�� Ê(x, t)

i��� �����> �/ �
 ����� �� 	� 	
 �/�� �+��t

[Âk(x, t), Âl(y, t)] = 0,

[Êk(x, t), Êl(y, t)] = 0,

[Âk(x, t), Êl(y, t)] = i�4πcδ(x− y). `26b

3/� 	� Q��$ 9��� g ��  �2� �� ����+ 9��+ � KA> 9���@AEe � Êk(x, t) �/ Âk(x, t) ����� 9���@AEe 3�� �.�<��� 	=
x�<�F/�� �/�[� � �@AEe !/��/H ��
 �� h�( �
�R !��#
 	� �4�� Â(x, t) �������
 ����� 	
 ���
 �� 	2�� ����

3/������ ,���

(
∂2

c2∂t2
−∇2)Â(x, t) = 0. `27b

i����/H '"� 	� 	� �4� 3/�H� ������ 0��2 !/

Â(x, t) =
[
A eiωt−ik·x + A† e−iωt+ik·x

]
, `28b

,��� �� j��
�+ ω � D�� �� �� k 0��2 3/�� ,������ M/�4� ��� ����� 	
 ��� �
��� �SR V � ω = |k|c ��� 	

F����� 	��E�$ Z�� �� ����  �Ee k �� �� �� �5/�� �� 	
 ��� ��7� �� �)2 �)�� � ��� ���Y� #a ��
 A �� �� �H���� �a�E&

,�������
�� ∇ · A = 0 ��4/

, �+�6�L�� ���� ���
 k ��  �Ee 	J_(� 	
 �� e2 � e1 �q ��4�� � 	r"/ I�7�7R �� �� � k D�� �� �� �� 9�H� 	� ���� ��
��� �����> 	S���� 

A = b1e1 + b2e2, `29b

i �
 �5/��H�� �/H '"� 	� ���� �� �� B�� 'R 	S���� 

Â(x, t) =
∑

λ=1,2

eλ

(
bλ e

iωt−ik·x + b†λe
−iωt+ik·x

)
`30b

0��2 3/� �aEA5� ,��� 9H�� N/��� �� 0��2 3/� K�<k� H� ���� 	
 ���
 ������>� �� 9� 	�556 �/ �7� k D�� 9���� ��
���� �/H 8��( 	� ���� �� �� 	� �4� H� ������ 0��2 3/�� �A
 � �5�� �A
 0��2 !/

Â(x, t) =
∑
k,λ

eλ

(
bλ,ke

iωt−ik·x + b†
λ,ke

−iωt+ik·x
)
. `31b

�
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����� ���� �� ,��� ��� 3/F@/�2 b̂†
λ,k � b̂λ,k �������
 9���@AEe 	e�ES� �� Â(x, t) �������
 ����� ��
 3/���

i��� �����> Ê(x, t) = − ∂
c∂tA(x, t) 	
 �S��H� i���� ���@AEe 	e�ES� 3/� s5R�� F�� �� �"/��"��

Ê(x, t) =
1√
c

∑
k,λ

iωeλ

(
−bλ,ke

iωt−ik·x + b†k,λ
e−iωt+ik·x

)
. `32b

9�� �/�S��2 	k��� 3��� �� � �� 	
 ��� �A5� g�5�= b̂†k,λ
� b̂λ,k 9���@AEe �/�S��2 	k��� 	
 ����$ ���� ��

	k��� 3/� ���� �� b̂†k,λ
� b̂λ,k 9���@AEe s5R�� �� ����� 3/� N5� 3��= �� � Ê � Â �������
 9�� ����� 3�� !�����


i���5��/H '"� 	� �/�S��2 N��� � 	
 �� �� ��G� ��B�. �E
 �/�� � K�
 	<��J� !/ , �
 0�5R �� �/�S��2

[b̂k,λ, b̂k′,λ′ ] = [b̂†k,λ
, b̂†k′,λ′ ] = 0

[b̂k,λ, b̂
†
k′,λ′ ] =

V ω

2πc2�
δλ,λ′δk,k′ . `33b

��5/��� �/H 8��( 	� �� Â �6� 3/������

Â(x, t) =
∑
k,λ

(
2πc2�

V ω
)

1
2 eλ

(
aλ,ke

iωt−ik·x + a†
λ,ke

−iωt+ik·x
)
. `34b

i ��4/ I���
 �� h�( �� ����+ 9��+ � KA> �/�S��2 N��� � � â† � â 9���@AEe ��@��

[âk,λ, âk′,λ′ ] = [â†k,λ
, â†k′,λ′ ] = 0

[âk,λ, â
†
k′,λ′ ] = δλ,λ′δk,k′ . `35b

N<��� k 9�� 	��"� 	� �� ω ��/H  �
 '7��� -E2 ��#e H� '<
 	� �� (2πc2
�

V ω )
1
2 8��<e ���� �E� 34 	k��� � 	
 ���
 �
 

,���5�
	
 ��� 3"E� �/� ,���5���+ � KA> 9���@AEe 'V� ��� a†k,λ

� ak,λ 9���@AEe 	
 ��� �� ��G� h�+ �/�S��2 N��� �
�/ 9:��� �@AEe 	
 �����)� ���� 3/� 	� Q��$ 9��� g������� ����+ 9��+ � KA> 9���@AEe ��E� �a4
�� ���@AEe 3/�

i �� �� �/H '"� ����A�����@AEe 	
  � ��G� ���� �� 25 � 34 	k��� H� � �_��� �� ,���
 0�5R �� ����A����

H =
∑
k,λ

�ωkâ
†
k,λ

âk,λ, `36b

i�/� ��� �/H '"� 	� ����� '
 	��"� 	
  � ��G� ���� �� 3��= �� ,�/� � �
�L� W�( �4E2 ���O !/ H� ��� 	


P =
∑
k,λ

�kâ†k,λ
âk,λ. `37b

�
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,���5� �� ����+ 9��+ � KA> 9���@AEe a†k,λ
� ak,λ 9���@AEe 	
 ���
 �� -��
 �� �� #a ��
 	k���� 3/�

k 	��"� � � ����+ !/ â†k,λ
� âk,λ|0〉 = 0 	"�/� 	 � 	2��� � ,���
 �� 0�5R #r > ���R 9�� �� Â(x, t) �q @AEe �O� ��R

i�/��� �� ���� ��
 �� ����� λq;<k
�

Â(x, t)|0〉 =
∑
k,λ

(
2πc2�

V ω
)

1
2 e−iωt+ik·x|k, λ〉. `38b

MA�Y� 9�� j��
�+ �� �����+ !� 9�� ���R H� �k> �<�
�� ��
 �� �O� #r > 9�� 	
 ��
� Â �������
 ����� 3/������
�� ��E
#e ������> , ��� D��> p� 3/� 	A(�R H� �5�.��C����"�� �������
 ����� ���� � ��G�� �J� ,��
 �� ����� ��

,��
 	42��� �������
 ����� 	/�L� 9�� 0��
 	� ��G�� 8�4��k� 9��� �����

��

www.Endbook.net



��� �� �� �	�
��
� ���
� � ���� ���

����� �

��� ������ �	 
�	 ��
����� ���� ��� ������� � �	
� � �� ���� ��� ���� ��� 
�	 ���� �! �	 �"#$�� %��&'(	 ����)��
*+� �	
� �� 
� �� ���,�
���� ���-� �� �+#��� �	
� �	 �	 �-�
�� %�+#$	�. ������ �� 
� /0!	 �+�� 0!+� %�+#$	�.
%� �+#$	�. 12�3� ���	�� 
� �+#��� �	
� �*+� �
� � �+#��� �
� ��� ����� � �+#��� �	
� �4��	 �� ���� /+#$ %� �
" ��
%. �� �� 5
� ��	
� �$ �#6� �� �� /�
	� 7�����. 7-8 �� %9��� %�+#$	�. :�( ���6� �4��	�� �+#��� �	
� �	�� /+�"8
	
 +6� �! 
� %�+#$	�. �2;�� 5
� ��	
� /0!	 *+� �
� � �+#��� �
� ��� 7�����. �	 ���"<� %�+#$	�. :�( ���� 
��	" 
�=	
	 %�+#$	�. >?@� A?! :'?B	 �	 %@�C� 1��6� +��� 0�3� /0!	 %���+@� %!
�� �� %!
�� ��	 /
�#$ %� %!
��
���-� �� %�"��	"$ � ��!'$ %�+#$	�. �	�� �0!	 %��9)����� � %��D� :'?B	 �� :'?B	 ��	 �$ �D���	 /
���

/0!	 ���E�� �� �F!�G� �"G� �H ��	 ��� 
 %�
�-�
+I	� 
� �$ �	 �+#��� �	
� �	+6� �$ +�#$J�K /
��� %� ��)� k 	
 *+� �� �+#��� �	
� ���� 0�L ���� ���� 	�


�	 ��K�� �+#��� �	
� 0$�I 0�L �� �"�& 	
 A?! 0�L �$ �D���	 /I0 �� +8����	�� +�
M� %� k �� �"�& A?! +I	� �	 ����

/0!	 ���E�� 
� �� ���� �"������� �H ��	 0!	��	�� �	
� ����L %N�9H %#6� J0 
	+@� �� I0 ��+& 
	+@�

I0 = J0 O1P

>C	� 
� dΩ /dI(θ, φ) �� +8����	�� +�"8 %� �+#$	�. dΩ = sin θdθdφ %��QK ���	� ���N	 �� ���� +I	� 
� �$ %�	
� �	+6�
�+#��� �-�
�� �	
� �	+6� �$ �H�� 	��� /I0 �� 0!	 R!�#�� dI �$ 0!	 
2�� /+#$ %� ���6� 	
 �� ��!
�-8� �	 ���	� �����
�	 ���	� ��	+�	 �� R!�#�� dI ���#H 
� /0!	��)�� 0F�� ���� �� ,�� �"8 %� �+#$	�. %��L ��
� �$ %�	
� �	+6� �+8����)��
��	���#� /+#$ %�
�-8� 	
 �	
� ��)�� �	+6� 0F�� ���� �� +8����)�� ��!
�-8� ����� �$ �H�� 	��� �0!	 dΩ %��QK
0F�� ��	 /�
	� %9��� %�+#$	�. ���	� ��#H 
� � �
	� %9��� �	
� ��<3)� � %�+#$	�. 7�����. �� ��#� I(θ,φ)

I0dΩ S0F��

���"� %� ��	���#� /
��� %� ��)� σ(θ, φ) �� 	
 0F�� ��	 /0!	 0I��� ��6� �	
	� ��T
�

dI(θ, φ) = σ(θ, φ)I0dΩ. O2P

�$ %�	
� 7$ �	+6� �	 0!	 �
�F& %2$ %�+#$	�. >?@� A?! /�"8 %� �+���� %�,L %�+#$	�. >?@� A?! σ(θ, φ)

U+�� %� 0!+� ��� V��( �� � +�"8 %� �+#$	�. �"���"� ���	�� 
�

W
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σ :=
1
I0

∫
dI(θ, φ) =

∫
σ(θ, φ)dθdφ. O3P

�
� ��	���#� /
�#$ %� *"?6� ���$ �
�@� �	
	� ��� 7�����. �	�� %�+#$	�. �2;�� 7I �� 	
 �" �L"� �� 7<K ��	
�
U���� %� 
	�C ��� %�"�2���� ��X�� 0G� �+#���

H =
p2

2μ
+ V (r) ≡ H0 + V (r), O4P

%�+#$	� . �2;�� 7I �	�� ���! �	
 �� 0�3� /0!	 �$�! *+� �
� �$ 
�	���$ J�K /0!	 �
� Y�L μ ��
� �$
�2;�� �	�� R!�#� ���� Z�	�8
� �$ 
�#$ %� 	+�. ["K %�"�2�����	 	
 %��� 0N�I �\�� ��#� �	
 ��	
� /
�#$ %� ���#)�.
%� %N� 
�
	�
�$��! %�"�2���� 0N�I �\�� �� �� 	��� �
	+� �"L� %���� ]"G� "̂� _�� 7I �	
 ��	
� /+##$ [+B %�+#$	�.
%� `"� ���� �� %���� ]"G� �� +6� �3� 
� ab! /
�#$ 	+�. 	
 %�+#$	�. >?@� A?! �� 0N�I �\�� ��	 ��8	� �� 
��	"�
,�� V�C� 7I �	
 �� �$ 0!	 �,�H ���� �c6C	� 
�	 ��
�� 0!+� �" ���! 7I �	
 �� �$ 	
 �d�� �$ 
��� %� ��)� � 
��	��.

/+�� %� 0!+�

��� ���� �	�
��
� 
� ���� �
�� �� �

*+� �"! �� � �+8 0&�! 
� � 0�L 
� %F�� 0C��� �	
� �	 %���� �$ 0!	 �� +�� %� e
 �c6C	� ��9)�����
� �$ �d��
�"8 %� 1��6� ��� >��� �� �$ `"� ���� �� ,L 0��� �,�H �+#��� �
� �� 0N�I �EB �fGN
� ��	���#� /+�"8 %� �+����

ψ(r, 0) =
∫
d3kφ(k)eik(r−r0), O5P

U0!	 
$
���� k0 �� 0F�� �� ��#�. � 0!	 �#�)�� �	
	� k0 7g� �?@� �� 
� �$ 0!	 %6��� φ(k) >��� ��
� �

Δk
k0

� 1. O6P

W 7-8 /0!	 r0 �?@�
� `"� ���� ,$�� t = 0 �fGN
� /v0 = �k0
m �� 0!	��	�� `"� ���� ��	 0$�I 0&�! ��	���#�

/+�� %� ��)� ��N�	 �fGN
� 	
 `"� ����
�$ 
�#�F� � 
�#$ ���6� 0C� �� 	
 `"� ���� ��	 ]"G� 0���� %� 
�#$ 7I V�C� 
"( �� 	
 %�+#$	�. �2;�� �$ �� �	��

��	" Y�D�	 �+6� �3�
� �$ 0!	 �
�$ ��	 /+�� %�
� 7-8 �H �� +#$ %��X	 �� ��
 U = e−i Ht

� �� 7�& �$ %�C�
+�� 
��	" 
���$ 7I 	
 �+#$	�. �2;�� �+6� �3�
� �$ %�C� / 
�#$ ]�F�� 	
 ��� ���! �	
 
��	" %� �3� ��	
� /�	�
�� %-�� � 0!	 %)����� 0�6T� �	 ��K�� Y��N	 
���� �� ���! �	
 ��	 /�"� +�	" ���-� ���! �	
 ��	 h���� ��	 �� i	 h���� �$
+�"8 %� 1�B"� 03� `	"�	 �� �$ �	
� �	 Y�	+� � %9)��� %����L �$ 
�#$ %� J�K /0!	 %�"��	"$ ����-� ��"� %? 
%���� %9��� �� ��"� Y�	+� � %9)������#� %��6T� ��#H /+�"8 %� �+#$	�. ���$ `	"�	 �
"B �� � +#��� %� 7�����. ��
%���� ]"G� �-�� ��D� �� ���! �	
 ��	
� ��	���#� /
�
	�
�$��! %�"�2���� 0N�I �\�� �� �� �$ 0!	 ��	 7g� ��	���#� /�
	+�

j
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r0

/0!	 *+� �"! �� �+#��� �
� �+#�� ��)� �$ %L"� ���� UW 7-8

`	"�	 � k0Sk3)� ���-� �� 03� `	"�	 �	 %F�$�� �$ 
���� %�"�2���� �	 %��� 0N�I �\�� ]�F�+� 
�#$ 	+�. 	
 `"� ���� ��
0N�I �\�� ��#H �c6C	� �$ �	� 
��	" ��)� �+6� �3�
� l+�
	� �"L� %��� 0N�I �\�� ��#H ��� /+#8�� � 
 ���� ���$

U0!	��� 7-8 �� �+��� m
,� 
���� 7�����. ��� �	 �$ %��� r %#6� m
,� ��� r �	�� �� �� �K��C � +�
	� �"L� %���

ψ+

k(r) ∼ 1
(2π)

3
2

(
eik·r + fk(r)

eikr

r

)
. O7P


���� ��� r 
� �-#�	 �� �L"��� /
��� �X	 ���� ��
 	
 H �$ 0!	 %K�$ 
�#$ 	+�. 	
 �� 0N�I �\�� ��	 �4��	 �-�� �	��
7�� �EB 0�! �� ,�� V (r) �$ ��-� ��	 �� �L"� �� ��#H 
� � �"8 %� ���$�f� *�B 7��C 0N�I �\�� ��	 Y�� �2�L m
,�

�$ 
���� %� �D��� �+#$ %�

Hψ+

k(r) = Eψ+

k(r), O8P

/E = �
2k2

2μ ��
� �$

k 0�L 
� �$ 0!	 �	�
� �+#�� ��)� �$ k S̀ "� 
	��� �� 0!	 03� `"� �� %N�	 /0!	 `"� >��� �� �	 %F�$�� >��� ��	
R!�#�� ��FN	 �� �#�	� /�"8 %� 
$ 1

r �
"B �� �� �#�	� ��"� ���$ 7�N+� �$ 0!	 ���$ `"� �� %��� /+#$ %� 0$�I
0�L 	
 k 0�L ����� /�
	� r 
S	��� � k 
	��� %F�� 0�L �� %9��� �� �#�	� �$ 0!�#6� ��	 �� �$ 1

(2π)
3
2
fk(r) �� 0!	

VK	"� %�+#$	�. �2;�� ���� Z�	�8 �� �$ +#��� %��� 0N�I �\�� �+#�� ��)� %�"3� �� 0N�I �\�� ��	 
���9� �+#��� �
� ���-�
U�
�� %�
� ��� 7-8 �� 	
 ���� �$ 
���9��f� 
� 	
 �� 0N�I �\�� ��	 %���� ]"G� �$ 0!	 %K�$ ��-� ��	 n
� �	�� /+�
	�

ψ+

k(r, t) ∼ 1
(2π)

3
2

(
eik·r−iωt + fk(r̂)

eikr−iωt

r

)
. O9P

U
��� ��)� ��� 7-8 �� 
��	"� %� 	
 >��� �\�� ��	 
���9� ẑ 0�L
� 	
 k �$ %�C� o"<3� /ω = E
�

= �k2

2μ ��
� �$

p
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/ ψ+

k(r) `"� >��� Uj 7-8

ψ+
k (r, t) ∼ 1

(2π)
3
2

(
eik z−iωt + fk(θ, φ)

eikr−iωt

r

)
= ψin + ψsc. O10P

`"� �� � 0!	 0$�I ]�I
� O�+#��� �	
� 0�L %#6� P z 0Fg� 0�L
� �$ 0!	 03� `"� �� �	 %F�$�� `"� ��	
�X	 
� ��N�	 03� `"� �+8 �+#$	�. �	 %8�� �	"� %� 	
 ���$ `"� ��	���#� /�"8 %� 
�� ����� 0�! �� ,$�� �	 �$ ���$

/ j 7-8 �0��	� 7�����. �� �
" ��

�������� 	
��

� ������ ���

� 0!	 I0 �� R!�#�� ����L %N�9H 03� `"� �	�� /
�#$ �F!�G� 	
 ����L %N�9H `"� �� ��	 �	 ���� �	�� 
��	"� %�
U�� 0!	��	��

Jin =
�

2im
(ψ∗

in∇ψin − ψin∇ψ∗
in) =

1
(2π)3

�k

m
ẑ. O11P

0!	��� 7-8 �� ∇ �92�& ���$ ��<�3� ��9�!� 
� �$ 
�#$ %� 0C� �+8 �+#$	�. `"� �	��

∇ = r̂
∂

∂r
+ θ̂

1
r

∂

∂θ
+ φ̂

1
r sin θ

∂

∂φ
. O12P

��� �?�	
 
� �92�& ��	 ��	� 
	�C ��

Jsc =
�

2im
(ψ∗

sc∇ψsc − ψsc∇ψ∗
sc) O13P


�
�� %� 0!+� m
,� ��� r 
� RN�q �'�L ��8	� ��9� �

r
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Jsc =
1

(2π)3
|fk|2
r2

�k

m
r̂. O14P


�
	� 2S1��6� �� �L"� �� /
�
�� 0!+� 	
 %�+#$	�. >?@� A?! 
��	"� %� ����L �� ��	 ��8	� 0!�
���

σ(θ, φ) =
dI(θ, φ)
I0 dΩ

=
Jscr

2dΩ
I0 dΩ

=
Jscr

2

Jin
= |fk(θ, φ)|2. O15P

� 7�����. R�I�� f �-#�	 ]�	 /0!	 �+��� %C�� ]	"! �� �3� ��	
� /0!	 |f |2 >��� ���� %�+#$	�. >?@� A?! ��	���#�
/0!	 (7P 7S g� %��� 0N�I �\�� �	
	� H %�"�2���� �$ 
�#$ 0��X 
��	"� %� ��"9H �-�� Y�� �0��H �+#��� �	
� �4��	

��������� ��� 	��� ���� ���

�� 	
 ���� �	 7@��� �9#����8 �N��6� 
�$ ��	 �	�� /
�#$ 	+�. E = �
2k2

2μ �4��	 �� (4P %�"�2���� �	 %��� >��� �\�� 
��	" %�
U
���"� %� ��� �
"B

(∇2 + k2)ψ(r) = U(r)ψ(r) O16P

>��� ∇2 + k2 �S92�& �	�� /��$ 7I ���� >�	"� �	 ��K�� ��$ �� �	"� %� 	
 �	 �N��6� ��#H ��	 /U = 2μV
�2 ��
� �$

U+#$ [+B ��� �N��6�
� �$ 0!	 %6��� �����

(∇2 + k2)G(r, r′) = −4πδ(r− r′) O17P

�S 
"B �� (16P �N��6� ��8"� � ���� >��� �� ��8	� ��

(∇2 + k2)ψ(r) =
∫
U(r′)ψ(r′)δ(r − r′)d3r′ O18P

U08"���� 7-8 �� 	
 �� %�"�& 7I �	"� %� �
	"�� (16P �N��6� ��"� %? �	 ���E�!	�

ψ(r) = ψh(r) − 1
4π

∫
G(r, r′)U(r′)ψ(r′)dr′. O19P

%� 	+�. 	
 ���� >��� 0�3� /0!	 (∇2 + k2)ψ(r) = 0 �N��6� %#6� �9�� �N��6� �	 %�"�& 7I �� ψh(r) 7I ��	
�

�
	� /�"8 %� ��K�� (16P ��K�( 
� δ(r − r′) � G(r, r′) ��
"K Z�� �� >��� ��	 /
�#$

δ(r − r′) =
1

(2π)3

∫
d3qeiq·(r−r′), G(r − r′) =

1
(2π)3

∫
d3qG(q)eiq·(r−r′). O20P

U+�� %�
� ��� �
"B �� (16P �N��6� ��	���#�

(−q2 + k2)G(q) = −4π O21P

s
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U08	� +�	" ]�F�� �� 	
 ��� 7I �$

G(q) =
4π

q2 − k2
. O22P

�� �$ 0!	 ��	 �	 %8�� %9#�-� ��	 /0!	 %9#�-� �	
	� +##$ [+B q2 = k2 t�8
� �$ q �GEB �	 %(�@� 
� 7I ��	
�\�� �� >��� ��	
	��� �\�� eik·r >�	"� 0@�@I
� /
�#$ ��
	� �0!	��M.�� ��
	� �92�& �� �$ (∇2 + k2) �S92�& 
�	 ���$ %6!
1��6� i" ���� >��� ��	"�� �� �	 �+u I �	"#& �� 	
 G(q) �$ 0!	 �� �� %9#�-� ��	 �	 
	�K �	
 /+#����EB 
	+@�

U
�#$ 1��6� 	
 ��� ��	"�� 
��	"� %� ]�g� �	"#& �� /
���9��f�
�

G+ε(q) =
4π

q2 − k2 − iε
O23P

>��� ��
 	
 %#�6� ���� Z�	�8 �+�� 
��	" �-��#H ����� >��� �	 ����+I �"G� /G(q) := limε−→0Gε(q) 
��� 
	�C �
/
��� Y�D�	 	
 ���� +I �
�
	� `���I	 �$ %F!�#� ���� t�8 �� �L"� �� 0���� %� �� � ��$ +�	" ]��&	 ����


�
	� /
�#$ %� �F!�G� 	
 Gε >��� ���+@� ��	��

G+ε(r) = 4π
1

(2π)3

∫
d3q

eiq·r

q2 − k2 − iε
=

1
2π2

∫
q2dqd cos θdφ

eiq·r

q2 − k2 − iε

=
1
π

∫
q2dqd cos θ

eiqr cos θ

q2 − k2 − iε

=
1
π

∫ ∞

0

q2dq
eiqr − e−iqr

iqr

1
q2 − k2 − iε

=
1
iπr

∫ ∞

−∞
qdqeiqr 1

q2 − k2 − iε
=

−1
πr

d

dr

∫ ∞

−∞
dqeiqr 1

q2 − k2 − iε
=:

−1
πr

d

dr
I(r). O24P


�$ ��	 �	�� /
�#$ %� 	+�. 	
 �� ]	�9��	 ��� R?C 0�3� /
�#$ v��I �� �+����C�� i�
 �� 
��	"� %� 	
 q ��
 ]	�9��	

���"� %�

q2 = k2 + iε −→ q = ±k(1 +
iε

k2
)

1
2 = ±(k +

iε

2k2
) ≡ ±(k + iε). O25P

/+�� %� ��)� 	
 �� R?C 7G� (pP 7-8
U��$ v��I ��� �
"B �� 	
 ]	�9��	 �	"� %� ]�I

I(r) =
∫ ∞

−∞
dqeiqr 1

q2 − k2 − iε
= 2πiRez(eiqr 1

q2 − k2 − iε
)q=k+iε = 2πi

eikr

2k
O26P

U
�
�� %� 0!+� ��	���#�

G+(r) =
eikr

r
O27P
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� � � �	� � �� ���	+�� � ��	 ��
 ]	�9��	 	� �� /0�� �	"� %� �� x�� ��� ���	+�� � �	 Y	+$�� ��
 	
 ]	�9��	 
"� ��$ Up 7-8
>��� �� � 0K�� %�
	�C �� `
� 
� 0!	
 0�! R?C� 
"���$ 7 	� 
� yH 0�! R?C 
��K�� %� %E#� 	
 ε ��	 /0!	�EB

/
��
�	 %� 0!+� O+#$ %� 0$�I ,$�� *�( �� 0���� %� �	 �$ %L"�P �
 ��
� ����

G+(r, r′) =
eik|r−r′|

|r − r′| . O28P

%�
� ��� 7-8 �� 
�#$ %� v	"L �9�� 0��C �	�� φh(r) = 1

(2π)
3
2
eikz Y�K �� �$ %��3��	 �� %�"�2���� >��� �\�� ]�I

U+��

ψ+

k(r) =
1

(2π)
3
2
eik·r +

1
(2π)

3
2

∫
eik|r−r′|

|r − r′| U(r′)ψ+

k(r′)d3r′. O29P

R��@� `�3�
� 
�$ ��	 �	�� /08"� ��� ���! 7-8 �� r � r′ �	�� �	"� %� 	
 Y�� �2�L %#6� �9�� ��q 0��C ��	
%� ��K ��	 �	���z� � 0!	 ��K��
	�C ��K �� ���"�
�
� |r − r′| �-#�	 7�N+� �
"B
� ��	 /
��� %� 
�$ �� 	
 |r − r′| ≈ r

U
��� `� �� ���)�� t���I	 0���� %� +8�� >��!
���� +�	"�

|r − r′| = (r2 + r′2 − 2r · r′) 1
2 ≈ (r2 − 2r · r′) 1

2 ≈ r − r̂ · r′. O30P


��� %�
	�C ��	���#�

eik|r−r′| ≈ eikr−ikr̂·r′
. O31P


�
�� %� 0!+� �D���
�

ψ+

k(r) =
1

(2π)
3
2
eik·r +

eikr

r

1
(2π)

3
2
fk(r̂), O32P

��
� �$
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fk(r̂) =
1

(2π)
3
2

∫
e−ikr̂·r′

U(r′)ψ+

k(r′)d3r′. O33P

�� fk(r̂) �� �	�� R!�#� ���� �� ��	���#� /0!	 k %#6� �
� �4��	 ��#H 
� � r 
	��� 0�L �	 %6��� f �$ �"8 %� �+��
/0!	 fk(θ, φ)

 !�� "���� ���

	
 >�	"� ��	 7-8 � +�
	� �"L� %�+#$	�. �2;�� �	�� R!�#� ���� Z�	�8 �� %�"�2���� �	 %��� 0N�I �\�� �6C	� �$ 
��	� ��)�
*�(
� �$ �#6� ��	 �� 0!	 �+8 ��	� %#�T 7-8 �� >��� ��	 ��	 /+�� %� ��)� 	
 f(r) >��� 33 �?�	
 /
��
�� 0!� ��
�
"B �� 	
 �� �	"� %� �$ 0!	
	�-� �?�	
 �� �
"B �� 32 >��� �$ 0!�#6� ��	 �� ��	 ��	 /�
	� �"L� ψ+

k �� 0!	

Z�� ��	 ]�	 �2�L ��#� ��
	� %�+#$	�. 7=��� 
� %6�!� 
���� ���
�$ �$ �
"� �� Y"!"� R��@� 
� /08"� ,�� ��! ��

��
� �$ 
��� %� 
	�C �$ �#6� ��	 �� /�"8 %� ��K���f�
�

fk(r̂) =
1

(2π)3

∫
e−ikr̂·r′

U(r′)eik·r′
d3r′. O34P

�
��� ��)� k �� 	
 �+#��� �
� ���-� � k′ �� 	
 �+8 �+#$	�. �
� ���-� ����� /�
	� �	 ���! %2� ��#6� f >��� R��@� ��	
�
U+�� %�
� ��� 7-8 �� �
"� R��@�
� f >��� �
"B ��	
� /q := k − k′ �	 0!	 �
�F& *+� �� �+8 7@�#� ���-�

fk := − μ

2π�2

∫
eiq·rV (r)d3r. O35P

/0!	 7�����. >��� ��
"K 7�+F� �R��T �� ���#� f >��� �9�� �
�F& ��
� 0!	 % �" 
� �� � R �� @ � +8� � �� �� �#$ 
�� � 7 �� �� � . � � 0F� � �+ # �� � �	
� �4� �	 � $ % � C� �	� � �
" � R �� @ �
/0!	 ��K�� �	���� � %��	 ��,�K 
� %�	�	�K ������
�$ %�+#$	�. >?@� A?! �	 %F��@� �F!�G� ��N�	 �	"#& �� 7�N� ���� ��

+8�� ��8	� �
"� R��@� 
� %�+#$	�. 7���� 7I �	�� %<3)� 7�6N	
"�!� %�x"( Z�	� 
 ��	 a. �	 �+#�	" �-�� �	��
+�� %� 0!+� ��� �?�	
 �	 %�+#$	�. >?@� A?! V S���$ �
�@� �	
	� 7S �����.�� �	�� /
�#$ %�
	�-� ��� 
� 	
 %2B	 Z�	� 


U

σ(θ, φ) = |fk(θ, φ)|2 O36P

��
� �$

fk(θ, φ) := − μ
2π�2

∫
eiq·rV (r)d3r O37P

/0!	 θ, φ0�L %#6� r̂ �S 	+��	
� �� 0�L %N� k ��	+�	 ���� �� 0!	 �
	��� k′ �?�	
 ��	
� /q = k − k′ �

|
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�	�
��
� � !�� �� 
" #�$� ���� �

��	 �	�� /
�#$ ��9� ���� 
� 	
 `"� ��� ���� ]"G� �$ 0!	 �� %�+#$	�. �6N�?� �	�� V�C� �	
 
��E� ��+@�
� �$ 
"?����

�
	� /
���� %��f�
� 0!	 �+#��� �
� �� `"� >��� �+#�+��)� �$ 	
 %L"� ���� 
"f#�

ψ(r, 0) =
1

(2π)
3
2

∫
φ(k)eik·(r−r0)d3k O38P

U�	� Z����� 7-8 �� H %�"�2���� >�	"� �\�� �	 7��$ ��!� �� R�I�� 	
 `"� >��� ��	 �	"����	

ψ(r, 0) =
∑

n

cnψn(r) O39P

U�� �"� +�	" ��	�� �	"3N� ������� 
� `"� ���� 7-8 ��9��

ψ(r, t) =
∑

n

cnψn(r)e−
i
�

Ent O40P

U 0!	 1

(2π)
3
2
eik·r 7-8 �� %�"�2���� ��� 0N�I �\�� �	 %?�� ψ(r, 0) >��� �$ +!
 %��f� �� ]�	 ��9�
�

ψ(r, 0) =
∫
φ(k)e−ik·r0

1
(2π)

3
2
eik·rd3k O41P

+#��� H0 %�"�2���� 0N�I �\�� 1

(2π)
3
2
eik·r >�	"� �$ 0!	 ��	 �2;�� ��	 / 0!	 �+8 7B�I 7FC �	 x�� �"<@� ��	���#� �

�� �L ��	
� ��	 /�
�� 0!+� %�I	
 �� 	
 ["K Z�� %���� ]"G� �	"� %�� ��	���#� � H = H0 + V S7��$ %�"�2���� �� �
�\�� R�I�� Z�� R�	�T ������ ��N�	 `"� ���� 
��� %� ��)� �+#�� �3� 
� �-#�	 �� � +�� %� �� ��$ �� 
�� ��-�

�$ �#6� ��	 �� ��"8 %� ��8"� 
���$ 	+�. %2FC ��� �3�
� �$ ψ+
k (r) >�	"� %#6� H %�"�2���� >�	"�

ψ(r, 0) =
∫
φ(k)e−ik·r0

1
(2π)

3
2

(
eik·r + fk(r̂)

eikr

r

)
d3k. O42P

%#6� �+�� %� 0!+� %���! �� `"� >��� ��	 ]"G� +#��� Ek = �
2k2

2μ = �ω �4��	 �	
	� ψk(r) `"� >�	"� �$ �D���	

ψ(r, t) =
∫
φ(k)e−ik·r0

1
(2π)

3
2

(
eik·r−iωt + fk(r̂)

eikr−iωt

r

)
d3k =: ψ1(r, t) + ψ2(r, t). O43P

�
" B � � k �S � 8" � � � � $ 
 � # $ % � 0 C� 0 � 3 � /
 � # $ % � % !
� � 	
 `" � > �� � � �	 �� � �  � ! ]� I

���"#� 
��	"� %� Δk

k0
� 1 �$ ��-� ��	 �� �L"� � k = k0 + (k − k0) = k0 + Δk

k2 = (k0 + Δk)2 ≈ k2
0 + 2k0 · Δk, O44P

�D���
� �

}
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ω =
�k2

2μ
≈ �

2μ
(k2

0 + 2k0 · Δλ) = ω0 +
�k0

μ
· Δk. O45P

U��$ %��"���� ��� 7-8 �� 	
 x�� �?�	
 �	"� %� �k0
μ = v0 �-#�	 �� �L"� ��

ω ≈ ω0 + v0 · (k − k0) = ω0 + v0 · k − 2ω0 = −ω0 + v0 · k. O46P

U+�� %�
� ��� �
"B �� ψ1(r, t) `"� >��� ��	���#�

ψ1(r, t) =
1

(2π)
3
2

∫
e−ik·r0φ(k)eik·r−i[−ω0+v0·k]t

=
1

(2π)
3
2

∫
eik·(r−v0t)−ik·r0+iω0tφ(k)d3k. O47P

�$ +�� %� ��)� ψ(r, 0) %#6� ��N�	 `"� ���� �� >��� ��	 ����@�

ψ1(r, t) = eiω0tψin(r − v0t, 0). O48P

0�! �� t �� �EB �	 %���� �2B�K 
� v0 0&�! �� �$ �+#��� �
� ��N�	 `"� ���� ���� ,L 0��� �,�H ψ1(r, t) ��	���#�
/0!	 ���$ 0$�I "2L

U
�#$ %� ��9� 	
 ψ2(r, t) >��� ]�I

ψ2(r, t) =
1

(2π)
3
2

∫
e−ik·r0φ(k)

fk(r̂)
r

eikr−i(−ω0+v0·k)t

=
fk(r̂)
r

eiω0t

∫
φ(k)e−ik·r0+ikr−iv0·kt. O49P

08"� �	"� %� ��	

k =
√

(k0 + Δk)2 =
√
k2
0 + 2k0 · Δk = k0(1 +

k0 · Δk
k2
0

)

= k0 +
k0 · (k − k0)

k0
+ k0 + k̂0 · k − k0 = k̂0 · k. O50P

��	���#�

ψ2(r, t) =
fk(r̂)
r

eiω0t

∫
φ(k)e−ik·r0+i(k̂0·k)r−i(v0·k)t

=
fk(r̂)
r

eiω0t

∫
φ(k)eik·(k̂0r−iv0t)−ik·r0 , O51P
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0!	��� 7-8 �� ���$ `"� �� ψ2(r, t) >��� +�� %� ��)� �$

ψ2(r, t) =
fk(r̂)
r

eiω0tψ(k̂0r − v0t, 0). O52P


$ 1
r �	"� �� ���L Y��� 
� �� �#�	� �$ ���E� ��	 �� �
	� 	
 *+� �� �+8 �+���� ��N�	 `"� ���� �	 %���8 >C	� 
� `"� ��	

/0!	 ���$ ���z� fk(r̂)SR��T �� �� �#�	� ,�� %��L��
� � O0!	 %6�F( ��	 ��	 ���$ `"� �� �	�� �$P 0!	 �+8
	
 �+#��� `"� ���� �	"� %� �$ �#6� ��	 �� 0!	 A�GB (42PSZ�� �c6C	� �$ 
��� %� ��)� �3� ��	 %����. 0��C
�

�
�F& �$ 
��� ��)� +��� 
�$ ��	 �	�� /�	� Z�� H %#6� 7��$ %�"�2���� ��� 0N�I �\�� R�I��

M :=
∫
φ(k)e−ik·r0d3k

∫
eik|r−r′|

|r− r′| U(r′)ψ+

k(r′)d3r′ O53P

�� 	
 x�� Z�� 
��	"� %� �
	��EB��q 
	+@� k0 �� ���,� 
���� ��� k �	�� ��#� φ(k) >��� �$ %��D���	 /0!	�EB �� ��	��

�#$ %��"���� ��� 7-8

M =
∫

1
|r − r′|U(r′)ψ+

k0
(r′)d3r′

∫
φ(k)e−ik·r0+ik|r−r′|d3k O54P

�-#�	 �� �L"� �� ��	

k|r− r′| ≈ (k̂0 · k)|r − r′|, O55P

�$ 
���� %� �D���
∫
φ(k)e−ik·r0+ik·k̂0|r−r′|d3k ∝ ψ(k̂0|r − r′|, 0). O56P

��)� ["K >��� �-�� ]�I � �"� �EB��q *+�SyH 0�! 
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	��� �$ 0!	 `"� >��� ���� �+#��
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